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Read the passage and answer the questions given below selecting the appropriate option:

While conservation efforts are associated with conflicts between villagers and Forest Officials in most Protected areas across the country,
the Kailadevi Wildlife Sanctuary in Rajasthan has involved local community initiatives for conservation and regeneration. The Sanctuary
was initiated in 1983, over 674 sq km forming a part of the 1334 sq km Ranthambore Tiger Reserve. It is located within the Karauli and
Sopatra blocks of Sawai Madhopur district.

The primary occupation of the predominant Meena and Gujjar communities is pastoralism and subsistence agriculture.

Pressures on the sanctuary included migrant grazers known as the Rabaris, who came from the Mewar region of Rajasthan with herds of
over 150,000 sheep. Other pressures were from exploitation of timber and fuelwood and mining. The threat posed by the migrant grazers
spurred the formation of the "Baragaon ki Panchayat” in 1990, which in turn initiated a 'Bhed Bhagao Andolan',

The Forest Department supported the villagers in the formation of Forest Protection Committees and Van Suraksha Samitis. The benefits
of involving local people in protection of their resources were obvious. Illegal felling was checked. The use of forest resources for local
use was monitored. The Forest Protection Committees (FPCs) were also successful in stopping the mining in the Sanctuary. The people
not only protect their forests but also use their resources judiciously.

The problem of conservation and regeneration of Kailadevi Wildlife Sanctuary was solved with the initiative of
1. Meenas and Gujjars
2. Local Communities
3. Forest Officials
4. State government

Options :

485584105601. 1
485584105602. 2
485584105603. 3
485584105604. 4
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Read the passage and answer the questions given below selecting the appropriate option:

While conservation efforts are associated with conflicts between villagers and Forest Officials in most Protected areas across the country,
the Kailadevi Wildlife Sanctuary in Rajasthan has involved local community initiatives for conservation and regeneration. The Sanctuary
was initiated in 1983, over 674 sq km forming a part of the 1334 sq km Ranthambore Tiger Reserve. It is located within the Karauli and
Sopatra blocks of Sawai Madhopur district.

The primary occupation of the predominant Meena and Gujjar communities is pastoralism and subsistence agriculture.

Pressures on the sanctuary included migrant grazers known as the Rabaris, who came from the Mewar region of Rajasthan with herds of
over 150,000 sheep. Other pressures were from exploitation of timber and fuelwood and mining. The threat posed by the migrant grazers
spurred the formation of the "Baragaon ki Panchayat” in 1990, which in turn initiated a 'Bhed Bhagao Andolan',

The Forest Department supported the villagers in the formation of Forest Protection Committees and Van Suraksha Samitis. The benefits
of involving local people in protection of their resources were obvious. Illegal felling was checked. The use of forest resources for local
use was monitored. The Forest Protection Committees (FPCs) were also successful in stopping the mining in the Sanctuary. The people
not only protect their forests but also use their resources judiciously.



Rabaris were:
1. local villagers
2. migrant grazers
3. farmers

4. timber merchants

Options :

485584105605. 1
485584105606. 2
485584105607. 3
485584105608. 4
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Read the passage and answer the questions given below selecting the appropriate option:

While conservation efforts are associated with conflicts between villagers and Forest Officials in most Protected areas across the country,
the Kailadevi Wildlife Sanctuary in Rajasthan has involved local community initiatives for conservation and regeneration. The Sanctuary
was initiated in 1983, over 674 sq km forming a part of the 1334 sq km Ranthambore Tiger Reserve. It is located within the Karauli and
Sopatra blocks of Sawai Madhopur district.

The primary occupation of the predominant Meena and Gujjar communities is pastoralism and subsistence agriculture.

Pressures on the sanctuary included migrant grazers known as the Rabaris, who came from the Mewar region of Rajasthan with herds of
over 150,000 sheep. Other pressures were from exploitation of timber and fuelwood and mining. The threat posed by the migrant grazers
spurred the formation of the "Baragaon ki Panchayat” in 1990, which in turn initiated a 'Bhed Bhagao Andolan',

The Forest Department supported the villagers in the formation of Forest Protection Committees and Van Suraksha Samitis. The benefits
of involving local people in protection of their resources were obvious. Illegal felling was checked. The use of forest resources for local
use was monitored. The Forest Protection Committees (FPCs) were also successful in stopping the mining in the Sanctuary. The people
not only protect their forests but also use their resources judiciously.

The threat set by the migrant grazers helped in the formation of ;
1. Bhed bhagao Andolan
2. Baragaon ki Panchayat
3. Van Suraksha Samiti

4, Forest Protection Committee

Options :

485584105609. 1
485584105610. 2
485584105611. 3
485584105612. 4
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Read the passage and answer the questions given below selecting the appropriate option:

While conservation efforts are associated with conflicts between villagers and Forest Officials in most Protected areas across the country,
the Kailadevi Wildlife Sanctuary in Rajasthan has involved local community initiatives for conservation and regeneration. The Sanctuary
was initiated in 1983, over 674 sq km forming a part of the 1334 sq km Ranthambore Tiger Reserve. It is located within the Karauli and
Sopatra blocks of Sawai Madhopur district.

The primary occupation of the predominant Meena and Gujjar communities is pastoralism and subsistence agriculture.

Pressures on the sanctuary included migrant grazers known as the Rabaris, who came from the Mewar region of Rajasthan with herds of
over 150,000 sheep. Other pressures were from exploitation of timber and fuelwood and mining. The threat posed by the migrant grazers
spurred the formation of the "Baragaon ki Panchayat” in 1990, which in turn initiated a 'Bhed Bhagao Andolan',

The Forest Department supported the villagers in the formation of Forest Protection Committees and Van Suraksha Samitis. The benefits
of involving local people in protection of their resources were obvious. Illegal felling was checked. The use of forest resources for local
use was monitored. The Forest Protection Committees (FPCs) were also successful in stopping the mining in the Sanctuary. The people
not only protect their forests but also use their resources judiciously.

The involvement of local people supported the forest department to stop :

1. illegal felling and mining
2. mining only
3. illegal felling
4. use of resources

Options :

485584105613. 1
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Read the passage and answer the questions given below selecting the appropriate option:

While conservation efforts are associated with conflicts between villagers and Forest Officials in most Protected areas across the country,
the Kailadevi Wildlife Sanctuary in Rajasthan has involved local community initiatives for conservation and regeneration. The Sanctuary
was initiated in 1983, over 674 sq ki forming a part of the 1334 sq km Ranthambore Tiger Reserve. It is located within the Karauli and
Sopatra blocks of Sawai Madhopur district.

The primary occupation of the predominant Meena and Gujjar communities is pastoralism and subsistence agriculture.

Pressures on the sanctuary included migrant grazers known as the Rabaris, who came from the Mewar region of Rajasthan with herds of
over 150,000 sheep. Other pressures were from exploitation of timber and fuelwood and mining. The threat posed by the migrant grazers
spurred the formation of the "Baragaon ki Panchayat” in 1990, which in turn initiated a 'Bhed Bhagao Andolan'.

The Forest Department supported the villagers in the formation of Forest Protection Committees and Van Suraksha Samitis, The benefits
of involving local people in protection of their resources were obvious. Illegal felling was checked. The use of forest resources for local
use was monitored. The Forest Protection Committees (FPCs) were also successful in stopping the mining in the Sanctuary. The people
not only protect their forests but also use their resources judiciously.



We can save our forests by using our resources
1. recklessly
2. excessively
3. carelessly
4. wisely
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Read the following passage carefully and answer the next 5 questions by choosing the correct option :

No one could understand where he got his money from. But the person who marvelled most at the dashing and luxurious life led by

Alphonse was his friend and partner.

After they dissolved their partnership, most of the custom and the best connection passed by degrees into Charles's hands. This was not
because he in any way sought to run counter to his former partner; on the contrary, it arose simply from the fact that Charles was the more
capable man of the two. And as Alphonse had now to work on his own account, it was soon clear to any one who observed him closely,
that in spite of his promptitude, his amiability, and his prepossessing appearance, he was not fit to be at the head of an independent

business.

And there was one person who did observe him closely. Charles followed him step by step with his sharp eyes; every blunder, every
extravagance, every loss - he knew all to a nicety. and he wondered how Alphonse could keep going so long.

They had as good as grown up together. Their mothers were cousins; the families had lived near each other in the same street; and in a city
like Paris, proximity iz as important as relationship in promoting closeness. Moreover, the boys went to same school.

Who was living a luxurious life ? Choose the correct option:

1. Alphonse

B8]

. Charles

[=5]

. Alphonse's friend
4. The partner

Options :

485584105621. 1
485584105622. 2
485584105623. 3
485584105624. 4
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Read the following passage carefully and answer the next 5 questions by choosing the correct option :

No one could understand where he got his money from. But the person who marvelled most at the dashing and luxurious life led by
Alphonse was his friend and partner.

After they dissolved their partnership, most of the custom and the best connection passed by degrees into Charles's hands. This was not
because he in any way sought to run counter to his former partner; on the contrary, it arose simply from the fact that Charles was the more
capable man of the two. And as Alphonse had now to work on his own account, it was soon clear to any one who observed him closely,
that in spite of his promptitude, his amiability, and his prepossessing appearance, he was not fit to be at the head of an independent
business.

And there was one person who did observe him closely. Charles followed him step by step with his sharp eyes; every blunder, every
extravagance, every loss - he knew all to a nicety, and he wondered how Alphonse could keep going so long.

They had as good as grown up together. Their mothers were cousins; the families had lived near each other in the same street; and in a city
like Paris, proximity is as important as relationship in promoting closeness. Moreover, the boys went to same school.

Arrange the following sentences / portion of sentences as per their order of occurrence in the passage :

AL he knew all to a nicety. and he wondered how Alphonse could keep going so long.

B. After they dissolved their partnership, most of the custom and the best connection passed by degrees into Charles's hands.
C. And there was one person who did observe him closely. Charles followed him step by step...

D. But the person who marvelled most at the dashing and luxurious life led by Alphonse was his friend...

E. .1t arose simply from the fact that Charles was the more capable man of the two

Choose the correct answer from the options given below:
1. D-B-C-A-E

2.B-C-A-E-D

aa

.D-B-E-C-A
4. A-B-E-C-D

Options :

485584105625. 1
485584105626. 2
485584105627. 3
485584105628. 4
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Read the following passage carefully and answer the next 5 questions by choosing the correct option :

No one could understand where he got his money from. But the person who marvelled most at the dashing and luxurious life led by
Alphonse was his friend and partner.

After they dissolved their partnership, most of the custom and the best connection passed by degrees into Charles's hands. This was not
because he in any way sought to run counter to his former partnier; on the contrary, it arose simply from the fact that Charles was the more
capable man of the two. And as Alphonse had now to work on his own account. it was soon clear to any one who observed him closely,
that in spite of his promptitude, his amiability, and his prepossessing appearance, he was not fit to be at the head of an independent
business.

And there was one person who did observe him closely. Charles followed him step by step with his sharp eyes; every blunder, every
extravagance, cvery loss - he knew all to a nicety, and he wondered how Alphonse could keep going so long.

They had as good as grown up together. Their mothers were cousins; the families had lived near each other in the same street; and in a city
like Parig, proximity iz as important as relationship in promoting closeness. Moreover, the boys went to same school.

Based on your reading of the passage, identify the sentence/sentences which are CORRECT ;

A. Alphonse and Charles had grown up together

B. Alphonse's and Charles's mothers were friends

C. Alphonse and Charles never dissolved their partnership

D. Alphonse was fit for being the head of an independent business
E. Alphonse and Charles went to the same school

Choose the correct answer from the options given below:

1.A CandE only

rJ

.B.Cand E only
3. Aand E only

4.C.D and E only

Options :

485584105629. 1
485584105630. 2
485584105631. 3
485584105632. 4
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Read the following passage carefully and answer the next 5 questions by choosing the correct option :

No one could understand where he got his money from. But the person who marvelled most at the dashing and luxurious life led by

Alphonse was his friend and partner.

After they dissolved their partnership, most of the custom and the best connection passed by degrees into Charles's hands. This was not
because he in any way sought to run counter to his former partnier; on the contrary, it arose simply from the fact that Charles was the more
capable man of the two. And as Alphonse had now to work on his own account. it was soon clear to any one who observed him closely,
that in spite of his promptitude, his amiability, and his prepossessing appearance, he was not fit to be at the head of an independent

business.

And there was one person who did observe him closely. Charles followed him step by step with his sharp eyes; every blunder, every
extravagance, cvery loss - he knew all to a nicety, and he wondered how Alphonse could keep going so long.

They had as good as grown up together. Their mothers were cousins; the families had lived near each other in the same street; and in a city
like Parig, proximity iz as important as relationship in promoting closeness. Moreover, the boys went to same school.

Who was more capable between Alphonse and Charles 7

1. Alphonse

2. Charles

L)

. We cannot decide

4. Sometimes Alphonse, at other times Charles

Options :

485584105633. 1
485584105634. 2
485584105635. 3
485584105636. 4
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Read the following passage carefully and answer the next 5 questions by choosing the correct option :

No one could understand where he got his money from. But the person who marvelled most at the dashing and luxurious life led by

Alphonse was his friend and partner.

After they dissolved their partnership, most of the custom and the best connection passed by degrees into Charles's hands. This was not
because he in any way sought to run counter to his former partnier; on the contrary, it arose simply from the fact that Charles was the more
capable man of the two. And as Alphonse had now to work on his own account. it was soon clear to any one who observed him closely,
that in spite of his promptitude, his amiability, and his prepossessing appearance, he was not fit to be at the head of an independent

business.

And there was one person who did observe him closely. Charles followed him step by step with his sharp eyes; every blunder, every
extravagance, cvery loss - he knew all to a nicety, and he wondered how Alphonse could keep going so long.

They had as good as grown up together. Their mothers were cousins; the families had lived near each other in the same street; and in a city
like Parig, proximity iz as important as relationship in promoting closeness. Moreover, the boys went to same school.




The passage is about:

1. two friends

58]

. two friends who turned rivals
3. two enemies
4. two strangers

Options :
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In stark contrast to where I erew up-in warm, lush green Trivandrum, Kerala, filled with rich sights, sounds and people-life at the Poles is
quiet. The harshness of winter brings along with it an eerie desolation and near-total silence. Survival in this frigid. dark and windy terrain
is only for the fittest. A misstep can mean anything from an icy injury to a bitter, benumbed death.

But while it is tenuous, life here is also humbling-physically. mentally, and even spiritually. The experience has allowed me to witness the
wonderous dualities of nature: raw, brutal and unforgiving but nurturing and awe-inspiring at the same time.

As the days shorten, almost all life starts to depart secking warmer lands. But those who stay are surrounded by glacial beauty and an
otherworldly stillness that stands unmatched. In peak winter months, the sun seems to live only in memory. Its absence however, is only
an illusion: shimmering displays of blue, red, yellow, green, and orange auroras shifting and snaking like billowing curtains across the
pitch black sky remind me that the light shall one day return.

Even the emptiness of the land is deceptive. Look closely and out waddles a flock of penguins from behind an ice shelf on the Antarctic

peninsula,

The writer indicates that only those who are fit can survive at the poles. For the others it can lead to:-

A death

B. bitterness
C. icy-injury
D. loneliness

Choose the correct answer from the options given below:

1. A Only

[E8]

.B Only
3. Aand C Only
4. B and D Only

Options :

485584105641. 1
485584105642.2
485584105643. 3
485584105644. 4
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In stark contrast to where I grew up-in warm, lush green Trivandrum, Kerala, filled with rich sights, sounds and people-life at the Poles is
quict. The harshness of winter brings along with it an eerie desolation and near-total silence. Survival in this frigid. dark and windy terrain
is only for the fittest. A misstep can mean anything from an icy injury to a bitter, benumbed death,

But while it is tenuous, life here is also humbling-physically. mentally, and even spiritually. The experience has allowed me to witness the
wonderous dualities of nature: raw. brutal and unforgiving but nurturing and awe-inspiring at the same time.

As the days shorten, almost all life starts to depart secking warmer lands. But those who stay are surrounded by glacial beauty and an
otherworldly stillness that stands unmatched. In peak winter months, the sun seems to live only in memory. Its absence however, is only
an illusion: shimmering displays of blue, red. yellow, green. and orange auroras shifting and snaking like billowing curtains across the
pitch black sky remind me that the light shall one day return.

Even the emptiness of the land is deceptive. Look closely and out waddles a flock of penguins from behind an ice shelf on the Antarctic
peninsula.

Tdentify the correct synonyms of the two words given below:
Waddle; eerie

1. Walk with effort; dark

k2

. Walk with short steps: causing a feeling of mystery

LS5

. hobble around; Scary
4, Trudge; ludicrous

Options :

485584105645. 1
485584105646. 2
485584105647. 3
485584105648. 4
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In stark contrast to where I grew up-in warm, lush green Trivandrum, Kerala, filled with rich sights, sounds and people-life at the Poles is
quict. The harshness of winter brings along with it an eerie desolation and near-total silence. Survival in this frigid. dark and windy terrain
is only for the fittest. A misstep can mean anything from an icy injury to a bitter, benumbed death.

But while it is tenuous, life here is also humbling-physically, mentally, and even spiritually. The experience has allowed me to witness the
wonderous dualities of nature: raw. brutal and unforgiving but nurturing and awe-inspiring at the same time.

Ag the days shorten, almost all life starts to depart seeking warmer lands. But those who stay are surrounded by glacial beauty and an
otherworldly stillness that stands unmatched. In peak winter months, the sun seems to live only in memory. Its absence however, is only
an illusion: shimmering displays of blue, red. yellow. green. and orange auroras shifting and snaking like billowing curtains across the
pitch black sky remind me that the light shall one day return.

Even the emptiness of the land is deceptive. Look closely and out waddles a flock of penguins from behind an ice shelf on the Antarctic
peninsula.



Identify the literary device in the sentence given below:

"shimmering displays of blue, red, yellow, green, and orange aureras shifting and snaking like billowing curtains across the pitch black

sky..."
Choose the correct option:-
1. metaphor
2. alliteration
3. simile
4. assonance
Options :
485584105649. 1
485584105650. 2

485584105651. 3
485584105652. 4
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In stark contrast to where I grew up-in warm, lush green Trivandrum, Kerala, filled with rich sights, sounds and people-life at the Poles is
quict. The harshness of winter brings along with it an eerie desolation and near-total silence. Survival in this frigid. dark and windy terrain
is only for the fittest. A misstep can mean anything from an icy injury to a bitter, benumbed death.

But while it is tenuous, life here is also humbling-physically, mentally, and even spiritually. The experience has allowed me to witness the
wonderous dualities of nature: raw. brutal and unforgiving but nurturing and awe-inspiring at the same time.

Ag the days shorten, almost all life starts to depart seeking warmer lands. But those who stay are surrounded by glacial beauty and an
otherworldly stillness that stands unmatched. In peak winter months, the sun seems to live only in memory. Its absence however, is only
an illusion: shimmering displays of blue, red. yellow. green. and orange auroras shifting and snaking like billowing curtains across the
pitch black sky remind me that the light shall one day return.

Even the emptiness of the land is deceptive. Look closely and out waddles a flock of penguins from behind an ice shelf on the Antarctic
peninsula.

Identify how life at the Poles iz in stark contrast to the writer's native Kerala.
warm and lush green vs frigid and dark
death vs life
humorous vs harsh
rich sights & sounds vs eerie desolation & silence
l.Aand D
2.BandC
3. A Only
4. C Only
Options :
485584105653. 1

485584105654 2
485584105655. 3



485584105656. 4
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In stark contrast to where I erew up-in warm, lush green Trivandrum, Kerala, filled with rich sights, sounds and people-life at the Poles is
quiet. The harshness of winter brings along with it an eerie desolation and near-total silence. Survival in this frigid. dark and windy terrain
is only for the fittest. A misstep can mean anything from an icy injury to a bitter, benumbed death.

But while it is tenuous, life here is also humbling-physically. mentally, and even spiritually. The experience has allowed me to witness the
wonderous dualities of nature: raw, brutal and unforgiving but nurturing and awe-inspiring at the same time.

As the days shorten, almost all life starts to depart secking warmer lands. But those who stay are surrounded by glacial beauty and an
otherworldly stillness that stands unmatched. In peak winter months, the sun seems to live only in memory. Its absence however, is only
an illusion: shimmering displays of blue, red, yellow, green, and orange auroras shifting and snaking like billowing curtains across the
pitch black sky remind me that the light shall one day return.

Even the emptiness of the land is deceptive. Look closely and out waddles a flock of penguins from behind an ice shelf on the Antarctic
peninsula,

Match the words in List I with their meanings in List IT

LISTI LIST I
A | frigid 1. | weak and slight
B. | tenuous II. | shining with soft, steady light|
C. | billowing III | very cold
D. | Shimmering | IV | to rise & roll like waves

Choose the correct answer from the options given below:

1. A-ILB-IV.C-IILD-I

3]

. A-LB-IV.C-II,D-III

- A-TVB-IILC-ILD-IT

LS

4. A-IILB-L,C-IV.D-II

Options :

485584105657. 1
485584105658. 2
485584105659. 3
485584105660. 4
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Question Key Details :

Key Value

Comprehension MCQ




Mark the correct Active Voice of the following:
"The wall is being built by the maszon."
1. The mason has built this wall.

2. The mason is building the wall.

LS

. The mason was building the wall.
4. The mason built this wall.

Options :

485584105661. 1
485584105662. 2
485584105663. 3
485584105664. 4

Question Number : 17 Question Id : 48558426417 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the option which best expresses the same sentence in Passive Voice.
Somebody cleans the room every day.
1. The room is cleaned every day.
2. The room is being cleaned every day.
3. The room has been cleaned every day.
4, The room is being cleaned every day by somebody.
Options :
485584105665. 1
485584105666. 2

485584105667. 3
485584105668. 4

Question Number : 18 Question Id : 48558426418 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Change the following to Direct Speech by choosing the correct answer from the options given:

The judge asked the thief what he had been doing with his hand in the gentleman's pocket.
1. The judge said to the thief, "What were you doing with your hand in the gentleman's pocket?"

2. The judge said to the gentleman, "What was the thief doing in your pocket with his hand 7"

5]

. The judge said to the thief, "What are you doing with vour hand in the gentleman's pocket?"
4. The judge asked the thief, "Why are you putting vour hand in the gentleman's pocket?"
Options :

485584105669. 1
485584105670. 2



485584105671. 3
485584105672. 4

Question Number : 19 Question Id : 48558426419 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Key Value
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Choose the correct option to change the following question into Indirect Speech.
Tulia said that she could not attend our wedding.

1. Julia said, " I could not attend your wedding."

&

. Julia said, "I will not attend your wedding."

L)

. Julia said, "I am not attending vour wedding."
4, Julia said, "I cannot attend your wedding."

Options :

485584105673. 1
485584105674.2
485584105675. 3
485584105676. 4

Question Number : 20 Question Id : 48558426420 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Comprehension MCQ

Rearrange the sentences to make a paragraph -

A. Now divided into two separate states of India and Pakistan,

B. The population of India as a single geographical and cultural unit,

C. which have come to India throughout the fifty to sixty centuries of her long history.

D. forms one-fifth of the entire population of the world, and presents, at first sight, a bewildering variety of cultures.

Choose the correct answer from the options given below:
1.A.C.B.D
2.B,A,D.C
3.C,D.A, B
4.B,D,C.A

Options :

485584105677. 1
485584105678. 2
485584105679. 3
485584105680. 4

Question Number : 21 Question Id : 48558426421 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Rearrange the sentences to make a paragraph -

. containing the original texts of the Vedas

. each of the four Vedas is divided into the Sambhita portion

. and the Brahmana portion, containing interpretations of the contents of the original texts
. The Vedic literature consists of the four Vedas and several auxiliary works

Onwe

Choose the correct answer from the options given below:
1.D.C.A.B
2.D,B.A, C
3.B,C,A,D
4.C,B.D,A

Options :

485584105681. 1
485584105682. 2
485584105683. 3
485584105684. 4

Question Number : 22 Question Id : 48558426422 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Key Value

Comprehension MCQ

Match the words given in List I with the meanings given in List IT:

LISTI LISTII
Foreign words Meaning
A |exempli gratia | I |Connection
B. |nexus II. |Shortcoming
C. |Literati I11. |for example
D. [Lacuna IV |Literary persong

Choose the correct answer from the options given below:
1. A-l, B-IT, C-III, D-IV
2. A-IV, B-I1, C-I11, D-1
3. A-IV, B-III, C-II, D-T
4. A-IIL, B-I, C-IV, D-II

Options :

485584105685. 1
485584105686. 2
485584105687. 3
485584105688. 4

Question Number : 23 Question Id : 48558426423 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Choose the option which gives the correct meaning of the foreign word:
"GRATIS"
1. free of charge
2. joy of living
3. really
4, in a mass
Options :
485584105689. 1
485584105690. 2

485584105691. 3
485584105692. 4

Question Number : 24 Question Id : 48558426424 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Choose the synonym of the underlined word in the following sentence:
The showroom has been refurbished recently.

A sold
B. renovated
C. cleaned

D. shifted
Choose the correct answer from the options given below:
LG
2D
3.B
4. A

Options :

485584105693. 1
485584105694. 2
485584105695. 3
485584105696. 4

Question Number : 25 Question Id : 48558426425 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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From the options below choose the synonym for the word "INSOLENCE";

1. Audacity
2. Impart
3. Demonstration
4. Stimulate

Options :

485584105697. 1

485584105698. 2

485584105699. 3
485584105700. 4

Question Number : 26 Question Id : 48558426426 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Choose the correct option from the words given below:
child has to bring Rs. 500/- for the trip.
1. Every
2. Each
3. Both
4. All

Options :

485584105701. 1
485584105702. 2
485584105703. 3
485584105704. 4

Question Number : 27 Question Id : 48558426427 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ

Fill in the blank with the appropriate pair of articles from the options given below.

"He would make better statesman than University Professor.”

2.the . an

LV

.a,the
4.a,a

Options :

485584105705. 1
485584105706. 2
485584105707. 3
485584105708. 4



Question Number : 28 Question Id : 48558426428 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :
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Comprehension MCQ

Choose the correct conversion of the following Assertive sentence to Exclamatory sentence:
It is sad. we have lost the match.

1. Alas! we lost the match.

{55

. Alas! we have lost the match.

5]

. Alas! we had lost the match.

4, Alas! the match had been lost.

Options :

485584105709. 1
485584105710. 2
485584105711. 3
485584105712. 4
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Choose the correct form of the Assertive sentence for the following Exclamatory sentence:
If only I were young again!

1. I were young again.

k2

. Iwished I were young again.
3. I'wish I were young again.
4, T had wished I were young again,

Options :

485584105713. 1
485584105714. 2
485584105715.3
485584105716. 4
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Fill in the blank with the appropriate preposition:
The assignment must be submitted  next Monday.
L. for
2.in
3.to
4. by

Options :

485584105717. 1
485584105718. 2
485584105719. 3
485584105720. 4
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From the options below, choose the correct preposition to fill in the blank:
After the party. Sumit returned home  car.

1. from

2. by

3. to

4. into

Options :

485584105721. 1
485584105722.2
485584105723.3
485584105724. 4

Question Number : 32 Question Id : 48558426432 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Fill in the blank with a suitable Modal. Choose the correct option from the options given below:
I have another cup of tea? It is very chilly outside.

1. will

()

. can

LS

. must

4. could

Options :

485584105725. 1
485584105726.2
485584105727. 3



485584105728. 4
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Fill in the blank with an appropriate Modal from the options:
One  abide by the laws,

1. must

2. should

3. may

4. could

Options :

485584105729. 1
485584105730. 2
485584105731. 3
485584105732. 4

Question Number : 34 Question Id : 48558426434 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ

Choose the correct salutation for writing a personal letter:
1. Dear sir
2. My dear Sheela
3, Dear Mr. Nayak
4. Sir

Options :

485584105733. 1
485584105734. 2
485584105735. 3
485584105736. 4
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Choose the suitable part of speech for the underlined word in the given sentence:
He knows me better than vou.
1. Adjective

2. Preposition

LV

. Adverb
4. Conjunction

Options :

485584105737. 1
485584105738.2
485584105739. 3
485584105740. 4
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Comprehension MCQ

Choose the part of the sentence that has an error:

1. No sooner she had realized

b

. her blunder than
3. she began
4, to take corrective measures

Options :

485584105741. 1
485584105742. 2
485584105743. 3
485584105744. 4

Question Number : 37 Question Id : 48558426437 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Choose the part of a sentence that is grammatically incorrect

1. What has excited many

o8]

. in India is how Al can be a
3. powerful change agent by
4. bridge the digital divide

Options :

485584105745. 1
485584105746. 2
485584105747. 3
485584105748. 4
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Comprehension MCQ

Match List I with List IT

LISTI LISTII
A |Call on 1 |Suspend
B. [Call off II. [Demand
C. |Cast off III. [Remove
D. [Call for TV, [Visit a person

Choose the correct answer from the options given below:

1. A-IL, B-IV, C-1, D-III

b3

. A-IV, B-III, C-II, D-I
3. A-L, B-IL, C-IV, D-I1I
4. A-IV, B-1, C-III, D-II

Options :

485584105749. 1
485584105750. 2
485584105751. 3
485584105752. 4

Question Number : 39 Question Id : 48558426439 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Comprehension MCQ

Choose the best option to complete the following sentence:
The fear that COVID has broken in our ity 1s not unfounded.
1. up

2. about

L)

. down

4, out

Options :

485584105753. 1
485584105754.2
485584105755. 3
485584105756. 4

Question Number : 40 Question Id : 48558426440 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Fill in the blanks with the correct pair of homonyms from the options given below:
Ingpite of the  paw, the bird struggled to  high in the sky.
1. sore, soar
2. sour. soar
3. goar, sore
4. sore. sour
Options :
485584105757. 1
485584105758. 2

485584105759. 3
485584105760. 4
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Rearrange the phrases to make a meaningful sentence,

AL As T had agreed to keep quiet
B. I did not like his

C. But I had no alternative

D. Comments on my paper

Choose the correct answer from the options given below:
LB.D.CA
2B CA
3.A.C.D.B
4.C,B,A,D

Options :

485584105761. 1
485584105762. 2
485584105763. 3
485584105764. 4

Question Number : 42 Question Id : 48558426442 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Match the words in List I with their Antonyms in List IT;

Match the Antonym
LISTI LISTII
A |Cherish 1 |disgrace
B. [Exalt 1L |discard
C. |[Ecstasy 111 [attractive
D. |Grisly IV, |despair

Choose the correct answer from the options given below:
1. A-IIL B-I, C-IV, D-II

2. A-IV, B-I, C-II, D-III

L)

. AL, B-II, C-IIL, D-1V
4. AL B-I, C-IV, D-III

Options :

485584105765. 1
485584105766. 2
485584105767. 3
485584105768. 4
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Comprehension MCQ

From the options below, choose the correct Antonym of the word - TNSIPID":

1. Prosaic

k2

. Lacklustre
3. Tasteless
4. Weakness

Options :

485584105769. 1
485584105770. 2
485584105771. 3
485584105772 4

Question Number : 44 Question Id : 48558426444 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
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Choose the sentence containing Adverb of Affirmation from the following options:
1. He is far better now.

2. This story i well written.

[=5]

. Surely you are mistaken.

4, He therefore left school.



Options :

485584105773. 1
485584105774. 2
485584105775. 3
485584105776. 4
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Choose the sentence containing Adverb of Reason from the following options:
1. He therefore left the school.
2. He certainly went.
3.1 am rather busy.
4. You are quite wrong.

Options :

485584105777. 1
485584105778. 2
485584105779. 3
485584105780. 4
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Fill in the blank with a suitable 'Question Tag' for the given sentence:
The scuba divers need air cylinders,

1. do they?

b2

. don't they?

LN

. need they?
4. needn't they?

Options :

485584105781. 1
485584105782. 2
485584105783. 3
485584105784. 4
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Choose the correct option to make the following sentence grammatically correct,
The people are trying many of our old traditions and opting for modern interpretations.
1. to get rid of
2. to getting rid off
3. for got rid off
4, to be having rid off

Options :

485584105785. 1
485584105786. 2
485584105787. 3
485584105788. 4
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The idiom 'To be thick in the head' means:

1. To be clever

[

. To be irrational

L)

. To be stupid

b

. To be angry

Options :

485584105789. 1
485584105790. 2
485584105791. 3
485584105792. 4
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Match the following Idioms in List I with their meanings in List I

LISTI LISTII
Idioms Meaning
A |Hit the nail on the head I |Make peace
B. |Smell a rat II. |[Hvpocrite
C. |Burv the hatchet III. |Do exactly the right thing|
D. |A wolf in sheep's clothing] IV. [Suspect something

Choose the correct answer from the options given below:
1. A-IL, B-III, C-IV, D-I
2. A-IV, B-II, C-II1, DI
3. A-TIL, BAIV, C-1, D-TI
4, A-IIL B-L C-II, D-IV

Options :

485584105793. 1
485584105794. 2
485584105795. 3
485584105796. 4

Question Number : 50 Question Id : 48558426450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Question Key Details :
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Comprehension MCQ

Choose the sentence that has an Adjective Clause.

1. I expect to get a prize.

2]

. He laughs best who laughs last.
3. He confessed to his guilt.
4. You may sit wherever vou like.

Options :

485584105797. 1
485584105798. 2
485584105799. 3
485584105800. 4
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485584106041. 1
485584106042. 2
485584106043. 3
485584106044. 4
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Question Number : 70 Question Id : 48558426530 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Question Number : 72 Question Id : 48558426532 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Question Number : 73 Question Id : 48558426533 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Question Number : 74 Question Id : 48558426534 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ
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Question Number : 75 Question Id : 48558426535 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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485584106137. 1
485584106138.2
485584106139. 3
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Question Number : 76 Question Id : 48558426536 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584106141. 1
485584106142. 2
485584106143. 3
485584106144. 4

Question Number : 77 Question Id : 48558426537 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584106145. 1
485584106146. 2
485584106147. 3
485584106148. 4

Question Number : 78 Question Id : 48558426538 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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485584106149. 1
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Question Number : 79 Question Id : 48558426539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Question Number : 80 Question Id : 48558426540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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485584106157. 1
485584106158. 2
485584106159. 3
485584106160. 4

Question Number : 81 Question Id : 48558426541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :
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Question Number : 82 Question Id : 48558426542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
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485584106168. 4

Question Number : 83 Question Id : 48558426543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value
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Options :
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485584106172. 4

9]

L)

Question Number : 84 Question Id : 48558426544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
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Options :

485584106173. 1
485584106174. 2
485584106175. 3
485584106176. 4

Question Number : 85 Question Id : 48558426545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584106177. 1
485584106178. 2
485584106179. 3
485584106180. 4

Question Number : 86 Question Id : 48558426546 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

TR @1 il &1 SRIER Holad &l ol A § -
A, T @
B. il &1 &l e
C. 30 3TaH! @l HH e ol
D. Giil &1 a1l F dieHT
9 fou U fdoed! & § 9l S &1 997 it
1. $9d D
. Ha B
3.pae C
4. HadA
Options :
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485584106182. 2

485584106183. 3
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Question Number : 87 Question Id : 48558426547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584106185. 1
485584106186. 2
485584106187. 3
485584106188. 4

Question Number : 88 Question Id : 48558426548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Question Number : 89 Question Id : 48558426549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ
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Question Number : 90 Question Id : 48558426550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584106197. 1
485584106198. 2
485584106199. 3
485584106200. 4

Question Number : 91 Question Id : 48558426551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Options :

485584106201. 1
485584106202. 2
485584106203. 3
485584106204. 4

Question Number : 92 Question Id : 48558426552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584106205. 1
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485584106208. 4

Question Number : 93 Question Id : 48558426553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

485584106209. 1
485584106210. 2
485584106211. 3
485584106212. 4



Question Number : 94 Question Id : 48558426554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Question Number : 95 Question Id : 48558426555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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485584106217. 1
485584106218. 2
485584106219. 3
485584106220. 4

Question Number : 96 Question Id : 48558426556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :
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485584106223. 3
485584106224. 4

Question Number : 97 Question Id : 48558426557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :
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485584106226. 2
485584106227. 3
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Question Number : 98 Question Id : 48558426558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Options :

485584106229. 1
485584106230. 2
485584106231. 3
485584106232. 4

Question Number : 99 Question Id : 48558426559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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485584106236. 4

Question Number : 100 Question Id : 48558426560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Question Number : 101 Question Id : 48558427271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




Which one of the following is not among the four pillars of Human Development?
1. Sustainability

2. Capability

L5

. Productivity
4. Empowerment

Options :

485584109081. 1
485584109082. 2
485584109083. 3
485584109084. 4

Question Number : 101 Question Id : 48558427271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584109081. 1
485584109082. 2
485584109083. 3
485584109084. 4

Question Number : 102 Question Id : 48558427272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The Age Pyramid of Japan has a narrow base and a tapered top showing

1. Low birth rate and Low death rate

{ 2]

. High birth rate and Low death rate
3. High birth rate and High death rate
4. Low birth rate and High death rate

Options :

485584109085. 1
485584109086. 2
485584109087. 3
485584109088. 4

Question Number : 102 Question Id : 48558427272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Options :

485584109085. 1
485584109086. 2
485584109087. 3
485584109088. 4

Question Number : 103 Question Id : 48558427273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The population increase by difference between births and deaths in a particular region between two points of time is called:

1. Actual growth of Population

{28

. Ageing of Population
3. Negative Growth of Population
4, Natural Growth of Population

Options :

485584109089. 1
485584109090. 2
485584109091. 3
485584109092. 4

Question Number : 103 Question Id : 48558427273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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485584109089. 1
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485584109091. 3
485584109092. 4

Question Number : 104 Question Id : 48558427274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

When migrants move out of a place, the process is called-
1. Immigration
2. Emigration
3. Urban migration
4. Rural migration

Options :

485584109093. 1
485584109094. 2
485584109095. 3
485584109096. 4

Question Number : 104 Question Id : 48558427274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Options :

485584109093. 1
485584109094. 2
485584109095. 3
485584109096. 4
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Question Number : 105 Question Id : 48558427275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Since when United Nations Development Programme (UNDP) has been publishing Human Development Report (HDR)?

1. 1970

2. 1980

3. 1990

4. 2000
Options :

485584109097.

485584109098.

485584109099.
485584109100.

EV R S

Question Number : 105 Question Id : 48558427275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Ty 1Y [Ty B Be J UG [der RUIE (HDR) WeTiRId #3361 82
1.1970
2.1980

. 1990

L)

4. 2000

Options :

485584109097. 1
485584109098. 2
485584109099. 3
485584109100. 4

Question Number : 106 Question Id : 48558427276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

'Beti Bachao Beti Padhao' Programme was introduced by the Government of India to address the issue of
1. Decline in female literacy rate
2. Crime against women
3. Decline in Child Sex Ratio
4. Poverty and social pollution

Options :

485584109101. 1
485584109102. 2
485584109103. 3
485584109104. 4

Question Number : 106 Question Id : 48558427276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1



Question Key Details :
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Options :

485584109101. 1
485584109102. 2
485584109103. 3
485584109104. 4

Question Number : 107 Question Id : 48558427277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following is not a heavy metal?
1. Lead
2. Arsenic
3. Manganese
4. Magnesium

Options :

485584109105. 1
485584109106. 2
485584109107. 3
485584109108. 4

Question Number : 107 Question Id : 48558427277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

fFraffEd o 9 o 4 e YR uig T8l 82
1.t
st
HTHE
4. BefifRrm
Options :
485584109105. 1

485584109106. 2
485584109107. 3

b
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485584109108. 4

Question Number : 108 Question Id : 48558427278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Most of the industrial wastes are disposed off in which of the following?
L. Rivers and Lakes
2. Landfill sites
3. Effluent treatment facilities

4. Groundwater

Options :

485584109109. 1
485584109110. 2
485584109111. 3
485584109112. 4

Question Number : 108 Question Id : 48558427278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Sirenfie HR &1 ety Y Fafafea 2 3 feud faufsia e g2
1. AfeTf siR et
. Safed 9id STERY Ffeurg
4. YH o
Options :
485584109109. 1
485584109110. 2

485584109111. 3
485584109112. 4

]
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Question Number : 109 Question Id : 48558427279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following is the most convenient and efficient mode of transporting liquids and gases over long distances?

1. Road transport

{8

. Oil tanker
3, Airplanes

4, Pipelines



Options :

485584109113. 1
485584109114. 2
485584109115. 3
485584109116. 4

Question Number : 109 Question Id : 48558427279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
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Options :

485584109113. 1
485584109114. 2
485584109115. 3
485584109116. 4

Question Number : 110 Question Id : 48558427280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Asia's first cross country pipeline was constructed by which of the following?
1. ONGC
2. GAIL
3. OIL

4.10C

Options :

485584109117. 1
485584109118. 2
485584109119. 3
485584109120. 4

Question Number : 110 Question Id : 48558427280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584109117. 1
485584109118. 2
485584109119. 3
485584109120. 4

Question Number : 111 Question Id : 48558427281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

In which of the following forms even solids are converted to transport through pipelines?

1. Liguid

{25

. Gas
3. Shurry
4. Vapour

Options :

485584109121. 1
485584109122. 2
485584109123.3
485584109124. 4

Question Number : 111 Question Id : 48558427281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

485584109121. 1
485584109122.2
485584109123. 3
485584109124. 4



Question Number : 112 Question Id : 48558427282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Inland Waterways Authority in India was set up in

1.1983

2. 1984

3. 1985

4. 1986
Options :

485584109125.

485584109126.

485584109127.
485584109128.

LN~

Question Number : 112 Question Id : 48558427282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

R ¥ 3id: R STaqr] Wit &1 g1 F ot oo

1. 1983

5]

. 1984

. 1985

T

4. 1986

Options :

485584109125. 1
485584109126. 2
485584109127. 3
485584109128. 4

Question Number : 113 Question Id : 48558427283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Demography discipline is related with which of the following branch of Geography?
1. Medical Geography
2. Population Geography

3. Social Geography

F=

. Geography of Tourism

Options :
485584109129. 1
485584109130. 2



485584109131. 3
485584109132. 4

Question Number : 113 Question Id : 48558427283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

ST SR Hd i 49 H ¥ o wRar 9 Halferd g2
1. ferfdpear aiia
ST I
TSP 4TIl
4. e i
Options :
485584109129, 1
485584109130, 2

485584109131. 3
485584109132. 4
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Question Number : 114 Question Id : 48558427284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

"Nature provides opportunities and human being make use of these and slowly nature gets humanised', scholars termed this as which of the
tollowing?

1. Environmental Determinism
2. Post-modernism
3. Possibilism

4. Neo-determinism

Options :

485584109133. 1
485584109134.2
485584109135.3
485584109136. 4

Question Number : 114 Question Id : 48558427284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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4. Fa-Fafaarg

Options :

485584109133. 1
485584109134.2
485584109135. 3
485584109136. 4

2=

Question Number : 115 Question Id : 48558427285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Trans-Canadian Railway line was constructed in which of the following years?

1. 1386

2. 1825

3. 1853

4. 1869
Options :

485584109137.

485584109138.

485584109139.
485584109140.

B W =

Question Number : 115 Question Id : 48558427285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
fFafafad o 9 fog o o ur-Sfsg= Yol 1 Fafor gan are
1. 1886
2. 1825
3. 1853
4. 1869
Options :

485584109137. 1
485584109138. 2
485584109139. 3
485584109140. 4



Question Number : 116 Question Id : 48558427286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In which one of the following south American states rail network is most dense?

1. Venezuela

(2=

. Ecuador
3. Bolivia
4. Argentina

Options :

485584109141. 1
485584109142. 2
485584109143. 3
485584109144. 4

Question Number : 116 Question Id : 48558427286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

fFaferaa T 9 feow gfém smie) & o galite 997 39 Fead urr S 62

1. 35@&6!
. diefifaar
4. 31@§é -l
Options :
485584109141. 1
485584109142. 2

485584109143. 3
485584109144. 4
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Question Number : 117 Question Id : 48558427287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

In India land-use records are maintained by
1. Government of India
2. Local Bodies
3. Survey of India
4. Land-Revenue Department

Options :
485584109145. 1



485584109146. 2
485584109147. 3
485584109148. 4

Question Number : 117 Question Id : 48558427287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
YRAH Y-S SMRE S BRI SRIEd o g
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2. g el
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Options :

485584109145. 1
485584109146. 2
485584109147. 3
485584109148. 4

Question Number : 118 Question Id : 48558427288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
Neywveli coal field is located in state of India.

1. Andhra Pradesh

| ]

. Tamil Nadu
3. Kerala
4. Karnataka

Options :

485584109149. 1
485584109150. 2
485584109151. 3
485584109152. 4

Question Number : 118 Question Id : 48558427288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :
485584109149. 1
485584109150. 2

485584109151. 3
485584109152. 4
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Question Number : 119 Question Id : 48558427289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
Dharwar, which is famous for manganese mines is located in state.

1. Andhra Pradesh
2. Telangana

. Maharashtra

LF5]

4. Karnataka

Options :

485584109153. 1
485584109154. 2
485584109155. 3
485584109156. 4

Question Number : 119 Question Id : 48558427289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :
485584109153, 1
485584109154, 2

485584109155. 3
485584109156. 4
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Question Number : 120 Question Id : 48558427290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tal-Kranti Abhiyan was launched by Government of India in which year?
1.2014-15
2. 2015-16
3. 2016-17
4. 2017-18

Options :

485584109157. 1
485584109158. 2
485584109159. 3
485584109160. 4

Question Number : 120 Question Id : 48558427290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

e o I YRA TROR gRI STA-Bifd AT S YURY g Ut 2
1.2014-15
2.2015-16

.2016-17

LV

4.2017-18

Options :

485584109157. 1
485584109158. 2
485584109159. 3
485584109160. 4

Question Number : 121 Question Id : 48558427291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

India's National Water Policy was introduced in which year?
1. 2000
2. 2002
3. 2004
4. 2006
Options :

485584109161. 1
485584109162. 2



485584109163. 3
485584109164. 4

Question Number : 121 Question Id : 48558427291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
forg o & WRd DI AP S i &l ar] favar a4
1.2000
2.2002
3. 2004
4. 2006
Options :

485584109161. 1
485584109162. 2
485584109163. 3
485584109164. 4

Question Number : 122 Question Id : 48558427292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Hamleted settlements are found in which of the following areas?

1. Lower Valleys of Himalayas

| ]

. Gujarat Plains

LS

. Bundelkhand Region
4. Rajasthan

Options :

485584109165. 1
485584109166. 2
485584109167. 3
485584109168. 4

Question Number : 122 Question Id : 48558427292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ
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Options :

485584109165. 1
485584109166. 2
485584109167. 3
485584109168. 4

Question Number : 123 Question Id : 48558427293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

‘Which one among the followings is NOT a unit of Hamleted settlements?
1. Panna
2. Cantonment Area
3, Nagla
4. Palli

Options :

485584109169. 1
485584109170. 2
485584109171. 3
485584109172. 4

Question Number : 123 Question Id : 48558427293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Prafafaa ¥ S o o oo 5wl @ So1 T8l 80
1. TTET
. BTaHT &
3. I
4. 9Tl
Options :
485584109169. 1
485584109170. 2

485584109171. 3
485584109172. 4

2]



Question Number : 124 Question Id : 48558427294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Dispersed settlements are NOT found in which one of the following states?
1. Meghalaya
2. Kerala
3. Gujarat
4. Uttarakhand

Options :

485584109173. 1
485584109174. 2
485584109175. 3
485584109176. 4

Question Number : 124 Question Id : 48558427294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
frafefaa o 3 forg Tou  uftfera st ¢ o ondt &
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Options :

485584109173. 1
485584109174. 2
485584109175. 3
485584109176. 4

Question Number : 125 Question Id : 48558427295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following term is used for cities together with their suburbs and a population of more than 10 million?

1. Megalopolis

28]

. Conurbation
3. City
4. Million City

Options :
485584109177. 1



485584109178. 2
485584109179. 3
485584109180. 4

Question Number : 125 Question Id : 48558427295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

485584109177. 1
485584109178. 2
485584109179. 3
485584109180. 4

Question Number : 126 Question Id : 48558427296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following stations on Trans-Siberian railway route from west to east direction:

A, Omsk
B. Mozcow
C. Tyumen
D. Chita

Choose the correct answer from the options given below:

1.B.C.A.D
2408 1€
3D CGAB
4.A B.C.D

Options :

485584109181. 1

485584109182.2

485584109183. 3
485584109184. 4

Question Number : 126 Question Id : 48558427296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1.B.C.A.D

rJ

.A,B,D,C
3.D,C,A,B
4.A.B,C,D

Options :

485584109181. 1
485584109182. 2
485584109183. 3
485584109184. 4

Question Number : 127 Question Id : 48558427297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the following approaches of Human Geography in chronological order.

A Radical school

B. Post-modernism

C. Exploration and description
D. Areal Differentiation

Choose the correct answer from the options given below:

1.D.A.C.B
2.A,B.C.D
3010 A B
4.B.C.D.A

Options :

485584109185. 1

485584109186. 2

485584109187.3
485584109188. 4

Question Number : 127 Question Id : 48558427297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




HId W B Fafafad [faRyRISH B SeparER Saikyd S|
A. STcaTd] foaReRT

B. IR 3MY[THarg
C. =0T 37 fga=o
D. &3ty fasga

i QU T [9oedl § O Ug! 3R & 904 Bl

1.D.A.C.B
2.A,B,C.D
3.C,D,A.B
4.B,C,D,A

Options :

485584109185. 1

485584109186. 2

485584109187. 3
485584109188. 4

Question Number : 128 Question Id : 48558427298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the following mega cities in descending order on the basis of total population (2016):

A. Shanghai
B. Tokyo
C. Mumbai
D. Delhi

Choose the correct answer from the options given below:

LLA;B,C.D
2.B.C.A.D
3.B,D.A.C
4.A C,B.D

Options :

485584109189. 1

485584109190. 2

485584109191. 3
485584109192. 4

Question Number : 128 Question Id : 48558427298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1.A,B,C.D
2.B,C,A,D
3.B,D,A,C
4.A,C,B,D
Options :
485584109189. 1
485584109190. 2

485584109191. 3
485584109192. 4

Question Number : 129 Question Id : 48558427299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the Major Industrial Regions of India from West to East direction.

A. Mumbai-Pune Region
B. Hugli Region

C. Chotanagpur Region
D. Delhi-Meerut Region

Choose the correct answer from the options given below:

LA, C,D.B
2.B.A.C.D
3JA.B.C.D
4.A,D,C.B

Options :

485584109193. 1

485584109194. 2

485584109195. 3
485584109196. 4

Question Number : 129 Question Id : 48558427299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1.A,C.D.B

=]

.B,A,C,D
3.A,B,C,D
4.A.D,C.B

Options :

485584109193.
485584109194
485584109195.
485584109196.

B WD~

Question Number : 130 Question Id : 48558427300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the Software Technology Parks of India from South to North direction.

A. Bengaluru

B. Navi Mutnbai
C. Pune

D. Hyderabad

Choose the correct answer from the options given below:
1.A.B.C.D
2.A,D.C.B
3.D.A.C.B
4.D.C.BA

Options :

485584109197. 1
485584109198. 2
485584109199. 3
485584109200. 4

Question Number : 130 Question Id : 48558427300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1. A;B.CD

[

.A,D,C,B
3.D,A,C,B
4.D,.C,B,A

Options :

485584109197. 1
485584109198. 2
485584109199. 3
485584109200. 4

Question Number : 131 Question Id : 48558427301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List I with List IT

LISTI 7
ILower limit of population size to be called as urban L Canniny
A 1500 I [ndia
B. |2500 II. [Colombia
C. |30.000 111 JUSA
D. [3000 IV. [Tapan

Choose the correct answer from the options given below:
1. A-IT, B-TII, C-IV, D-I
2. A-L. B-II, C-III. D-IV
3. A-IV, B-1I1, C-1, D-II
4. A-IL. B-I, C-IV, D-III

Options :

485584109201. 1
485584109202. 2
485584109203. 3
485584109204. 4

Question Number : 131 Question Id : 48558427301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1. A-IL, B-IIL, C-IV, D-1

b

. A B-IL, C-IL, D-IV
3. A-IV, B-IIL C-1, D-II
4. A-IL, B-I, C-IV, D-III

Options :

485584109201. 1
485584109202. 2
485584109203. 3
485584109204 4

Question Number : 132 Question Id : 48558427302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List I with List IT

LISTI LISTII
Sea Routes Linking
A [Suez Canal I. |Atlantic Ocean and Pacific Ocean
B. |Rhine waterways II. |interior Parts of USA and Gulf of Mexico
C. Mississippi waterwayvs | II1 [Rotterdam and Basel
D. |Panama canal IV. |Mediterranean Sea and Red Sea

Choose the correct answer from the options given below:

1. A-I, B-IV, C-III, D-II

2

. A-IV, B-III, C-II, D-I
3. A-III, B-II, C-IV, DI
4. A-IL, B-I, C-III, D-IV

Options :

485584109205. 1
485584109206. 2
485584109207. 3
485584109208. 4

Question Number : 132 Question Id : 48558427302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1. A-L B-IV, C-III. D-II
2. ATV, B-I11., C-I1. D-I
3. AL B-II, C-IV. D-I
4. A-II, B-I, C-III, D-IV

Options :

485584109205. 1

485584109206. 2

485584109207. 3
485584109208. 4

Question Number : 133 Question Id : 48558427303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Match List I with List IT

LISTI LISTII
Organisations Head Quarters
A JASEAN 1. |Brussels
B [WTO II. Pakarta
C. |JOPEC 111, |Geneva
D. [EU IV, [Vienna

Choose the correct answer from the options given below:
1. A-II, B-III, C-IV, D-1
2. A1, B-IT, C-IIT, D-IV
3. A-TV, B-1I1, C-II. D-I
4. A-IIL, B-IV, C-I, D-II

Options :

485584109209. 1
485584109210. 2
485584109211. 3
485584109212. 4

Question Number : 133 Question Id : 48558427303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1. A-IL B-III, C-IV, D-1

(]

. A-I, B-II, C-III, D-IV
3. A-IV, B-IIL, C-II, D-1I
4. A-ITL, BV, C-1, D-1I

Options :

485584109209. 1
485584109210. 2
485584109211. 3
485584109212. 4

Question Number : 134 Question Id : 48558427304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List I with List IT

LISTI LISTII

Ports Locations
A |Kandla Port 1. |Zuar Estuary
B. |Paradwip Port II. [Nhava Sheva
C. Jawaharlal Nehru Port] I [Mahanad: delta
D. Marmagao Port IV, |Gulf of Kuchchhf

Choose the correct answer from the options given below:
1. A-IV, B-TII, C-IT, D-I
2. A-I, B-IIL, C-IV, D-II
3. A-II, B-I, C-IV, D-IIT
4, A-IIL B-IL, C-L, D-IV

Options :

485584109213. 1
485584109214.2
485584109215. 3
485584109216. 4

Question Number : 134 Question Id : 48558427304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value
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1. A-IV, B-IIL C-IIL D-I

olo|w
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AL B-IIL C-IV, D-II

LS

. A-IL, B-L, C-IV, D-III
4. AL, B-I, C-1, D-IV

Options :

485584109213. 1
485584109214. 2
485584109215. 3
485584109216. 4

Question Number : 135 Question Id : 48558427305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Match List I with List IT

LISTI LISTII
Railway Zones Headguarters
[East Central 1. [Secunderabad
[North Central | II. Jabalpur
South Central | IIL |Allahabad
West Central | IV [Hajpur

glo|w]=

Choose the correct answer from the options given below:

1. A-IL, B-IV, C-I1I, D-I

]

. A-IV, B-III, C-I, D-II
3. A-IV, B-IIL C-II, D-I
4. A-II, B-I, C-1V, D-I1I

Options :

485584109217. 1
485584109218. 2
485584109219. 3
485584109220. 4

Question Number : 135 Question Id : 48558427305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1. A-IL, B-IV, C-III, D-1

glo|w|»=

(]

. A-IV, B-IIL, C-I, D-II
3. A-IV, B-IIL, C-II, D-1
4. AL B-L C-IV, D-III

Options :

485584109217. 1
485584109218. 2
485584109219. 3
485584109220. 4

Question Number : 136 Question Id : 48558427306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following are renewable energy resources?

A Solar
B. Hydro-geothermal
C. Coal
D. Wind

Choose the correct answer from the options given below:

1.A,Band Conly"

[E5]

A, B and D only
3.B.Cand D only
4. A CandD only

Options :

485584109221. 1
485584109222.2
485584109223. 3
485584109224. 4

Question Number : 136 Question Id : 48558427306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




fFefaf@a d I oH T Ful & Toieoiy TareE 8

AR

B. Weiig- YdTdiyg
C. PITa

D. gad
At few e fasedl & 9 U6l SR o1 797 P
1. BT A, B3R C"
2.%ad A, B3IRD
3. a0 B, C IR D
4. HATA, C IR D

Options :

485584109221. 1
485584109222. 2
485584109223. 3
485584109224. 4

Question Number : 137 Question Id : 48558427307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the followings are involved in secondary activities?

A. Iron and steel industry
B. Making wool

C. Making jewellery

D. Wholesale trade

Choose the correct answer from the options given below:
1.A Cand D only
2.B, Cand D only
3. A, Band C only
4. A. Band D only

Options :

485584109225. 1
485584109226. 2
485584109227. 3
485584109228. 4

Question Number : 137 Question Id : 48558427307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584109225. 1
485584109226. 2
485584109227. 3
485584109228. 4

Question Number : 138 Question Id : 48558427308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following are included in tertiary activities?

A. Trade and commerce
B. Information based

C. Transport

D. Communication

Choose the correct answer from the options given below:

1. A, B and C only
2.A. Cand D only
3.B. Cand D only
4. A B and D only

Options :

485584109229. 1
485584109230. 2
485584109231. 3
485584109232. 4

Question Number : 138 Question Id : 48558427308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584109229. 1
485584109230. 2
485584109231. 3
485584109232. 4

Question Number : 139 Question Id : 48558427309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Major copper deposits are found in which of the following areas?

A. Singhbhum
B. Nellore

C. Balaghat
D. Jhunjhunu

Choose the correct answer from the options given below:
1.B. C and D only
2. A, B and C only
3.A.Band D only
4. A CandD only

Options :

485584109233. 1
485584109234. 2
485584109235. 3
485584109236. 4

Question Number : 139 Question Id : 48558427309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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3.%dd A.B 3R D
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Options :

485584109233. 1
485584109234. 2
485584109235. 3
485584109236. 4

Question Number : 140 Question Id : 48558427310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following are major Trading and Commercial Towns?

A, Winnipeg
B. Jerusalem
C. Kansas City
D. Manchester

Choose the correct answer from the options given below:
1. A Band C only
2.B, Cand D only
3 A, Band D only
4. A Cand D only

Options :

485584109237. 1
485584109238. 2
485584109239. 3
485584109240. 4

Question Number : 140 Question Id : 48558427310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1.$ad A, B AR C
2.%ad B, C 3R D
3.%ad A, B3IRD
4.%ad A, CSIRD

Options :

485584109237. 1
485584109238. 2
485584109239. 3
485584109240. 4
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

2
4855841971
No

null

Question Number : 141 Question Id : 48558427311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Compl

Read the passage and answer the following question:

Pastoral nomadism is associated with three important regions. The core region extends from the Atlantic shores of North Africa eastwards
across the Arabian Peninsula into Mongolia and Central China. The second region extends over the tundra region of Eurasia. In the
gouthern hemisphere there are small areas in South-West Africa and on the island of Madagascar.

A wide variety of animals iz kept in different regions. In tropical Africa, cattle are the most important livestock, while in Sahara and
Asiatic deserts, sheep, goats and camel are reared. In the mountainous areas of Tibet and Andes, yak and Ilamas and in the Arctic and sub
Arctic areas, reindeer are the most important animals.

Movement in search of pastures is undertaken either over vast horizontal distances or vertically from one elevation to another in the
mountainous regions. The process of migration from plain areas to pastures on mountains during summers and again from mountain
pastures to plain areas during winters is known as transhumance. In mountain regions, such as Himalayas, Gujjars, Bakarwals, Gaddis and
Bhotiyas migrate from plains to the mountains in summers and to the plaing from the high altitude pastures in winters. Similarly, in the
tundra regions, the nomadic herders move from south to north in summers and from north to south in winters.

The number of pastoral nomads has been decreasing and the areas operated by them shrinking. This is due to (a) imposition of political
boundaries; (b) new settlement plans by different countries.

Pastoral nomadism is a

1. Primary activity

| ]

. Secondary activity
3. Quinary activity
4. Tertiary activity
Options :

485584109241. 1
485584109242. 2




485584109243. 3
485584109244. 4

Question Number : 141 Question Id : 48558427311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Options :

485584109241. 1
485584109242.2
485584109243. 3
485584109244. 4

Question Number : 142 Question Id : 48558427312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Read the passage and answer the following question:

Pastoral nomadism is associated with three important regions. The core region extends from the Atlantic shores of North Africa eastwards
across the Arabian Peninsula into Mongolia and Central China. The second region extends over the tundra region of Eurasia. In the
gouthern hemisphere there are small areas in South-West Africa and on the island of Madagascar.

A wide variety of animals iz kept in different regions. In tropical Africa, cattle are the most important livestock, while in Sahara and
Asiatic deserts, sheep, goats and camel are reared. In the mountainous areas of Tibet and Andes, yak and Ilamas and in the Arctic and sub
Arctic areas, reindeer are the most important animals.

Movement in search of pastures is undertaken either over vast horizontal distances or vertically from one elevation to another in the
mountainous regions. The process of migration from plain areas to pastures on mountains during summers and again from mountain
pastures to plain areas during winters is known as transhumance. In mountain regions, such as Himalayas, Gujjars, Bakarwals, Gaddis and
Bhotiyas migrate from plains to the mountains in summers and to the plaing from the high altitude pastures in winters. Similarly, in the
tundra regions, the nomadic herders move from south to north in summers and from north to south in winters.

The number of pastoral nomads has been decreasing and the areas operated by them shrinking. This is due to (a) imposition of political
boundaries; (b) new settlement plans by different countries.



Sheep and Camel are the important livestock of which of the following region?
1. Arctic region
2. Asiatic Deserts
3. Tibet

4. Tropical Africa

Options :

485584109245. 1
485584109246. 2
485584109247. 3
485584109248. 4

Question Number : 142 Question Id : 48558427312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
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Read the passage and answer the following question:

Pastoral nomadism is associated with three important regions. The core region extends from the Atlantic shores of North Africa eastwards
across the Arabian Peninsula into Mongolia and Central China. The second region extends over the tundra region of Eurasia. In the
gouthern hemisphere there are small areas in South-West Africa and on the island of Madagascar.

A wide variety of animals iz kept in different regions. In tropical Africa, cattle are the most important livestock, while in Sahara and
Asiatic deserts, sheep, goats and camel are reared. In the mountainous areas of Tibet and Andes, yak and Ilamas and in the Arctic and sub
Arctic areas, reindeer are the most important animals.

Movement in search of pastures is undertaken either over vast horizontal distances or vertically from one elevation to another in the
mountainous regions. The process of migration from plain areas to pastures on mountains during summers and again from mountain
pastures to plain areas during winters is known as transhumance. In mountain regions, such as Himalayas, Gujjars, Bakarwals, Gaddis and
Bhotiyas migrate from plains to the mountains in summers and to the plaing from the high altitude pastures in winters. Similarly, in the
tundra regions, the nomadic herders move from south to north in summers and from north to south in winters.

The number of pastoral nomads has been decreasing and the areas operated by them shrinking. This is due to (a) imposition of political
boundaries; (b) new settlement plans by different countries.

The process of migration in mountainous regions from one place to another with livestock in search of water and pastures is called

1. Emigration

2. Livestock rearing
3. Transhumance

4. Immigration
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Read the passage and answer the following question:

Pastoral nomadism is associated with three important regions. The core region extends from the Atlantic shores of North Africa eastwards
across the Arabian Peninsula into Mongolia and Central China. The second region extends over the tundra region of Eurasia. In the
gouthern hemisphere there are small areas in South-West Africa and on the island of Madagascar.

A wide variety of animals iz kept in different regions. In tropical Africa, cattle are the most important livestock, while in Sahara and
Asiatic deserts, sheep, goats and camel are reared. In the mountainous areas of Tibet and Andes, yak and Ilamas and in the Arctic and sub
Arctic areas, reindeer are the most important animals.

Movement in search of pastures is undertaken either over vast horizontal distances or vertically from one elevation to another in the
mountainous regions. The process of migration from plain areas to pastures on mountains during summers and again from mountain
pastures to plain areas during winters is known as transhumance. In mountain regions, such as Himalayas, Gujjars, Bakarwals, Gaddis and
Bhotiyas migrate from plains to the mountains in summers and to the plaing from the high altitude pastures in winters. Similarly, in the
tundra regions, the nomadic herders move from south to north in summers and from north to south in winters.

The number of pastoral nomads has been decreasing and the areas operated by them shrinking. This is due to (a) imposition of political
boundaries; (b) new settlement plans by different countries.

In tundra regions nomadic herders move in winters in which of the following directions?

1. North to South

&=

. South to North
3. East to West
4, West to North
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Read the passage and answer the following question:

Pastoral nomadism is associated with three important regions. The core region extends from the Atlantic shores of North Africa eastwards
across the Arabian Peninsula into Mongolia and Central China. The second region extends over the tundra region of Eurasia. In the
southern hemisphere there are small areas in South-West Africa and on the island of Madagascar.

A wide variety of animals iz kept in different regions. In tropical Africa, cattle are the most important livestock, while in Sahara and
Asiatic deserts, sheep, goats and camel are reared. In the mountainous areas of Tibet and Andes, yak and Ilamas and in the Arctic and sub
Avrctic areas, reindeer are the most important animals.

Movement in search of pastures is undertaken either over vast horizontal distances or vertically from one elevation to another in the
mountainous regions. The process of migration from plain areas to pastures on mountains during summers and again from mountain
pastures to plain areas during winters is known as transhumarnce. In mountain regions, such as Himalayas, Gujjars, Bakarwals, Gaddis and
Bhotiyas migrate from plains to the mountains in summers and to the plains from the high altitude pastures in winters, Similarly, in the
tundra regions, the nomadic herders move from south to north in summers and from north to south in winters.

The number of pastoral nomads has been decreasing and the areas operated by them shrinking. This is due to (a) imposition of political
boundaries; (b) new settlement plans by different countries.



Which one of the following is an area known for nomadic herding?

1. South India

2. Tundra region

3. Monsoon region
4. Southern Furope
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Read the passage and answer following question :

An important aspect of population growth in India is the growth of its adolescents. At present the share of adolescents i.e. up to the age
group of 10-19 years is about 20.9 per cent (2011), among which male adolescents constitute 52.7 per cent and female adolescents
constitute 47.3 per cent. The adolescent population, though, regarded as the youthful population having high potentials. but at the same
time they are quite vulnerable if not guided and channelized properly. There are many challenges for the society as far as these adolescents
are concerned, some of which are lower age at marriage, illiteracy-particularly female illiteracy, school dropouts, low intake of nutrients,
high rate of maternal mortality of adolescent mothers, high rate of HIV and AIDS infections. physical and mental disability or retardeness,
drug abuse and alcoholism, juvenile delinquency and commitence of crimes, ete. In view of these, the Government of India has
undertaken certain polices to impart proper education to the adolescent groups so that their talents are better channelized and properly
utilised. The National Youth Policy is one example which has been designed to look into the overall development of our large youth and

adolescent population.

The National Youth Policy (NYP-2014) launched in February 2014 proposes a holistic *vision’ for the youth of India, which is “To
empower the Youth of the country to achieve their full potential, and through them enable India to find its rightful place in the community
of nations.” The NYP-2014 has defined *Youth® as persons in the age group of 15-29 years.

The NYP-2014 has defined 'youth' as persons in the age group of

1. 10-19 years

o8]

3, 20-40 years

4. 19-30 years

Options :
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Read the passage and answer following question ;

An important aspect of population growth in India is the growth of its adolescents. At present the share of adolescents i.e. up to the age
group of 10-19 years is about 20.9 per cent (2011), among which male adolescents constitute 52.7 per cent and female adolescents
constitute 47.3 per cent. The adolescent population, though, regarded as the youthful population having high potentials. but at the same
time they are quite vulnerable if not guided and channelized properly. There are many challenges for the society as far as these adolescents
are concerned, some of which are lower age at marriage, illiteracy-particularly female illiteracy, school dropouts, low intake of nutrients,
high rate of maternal mortality of adolescent mothers, high rate of HIV and AIDS infections, physical and mental disability or retardeness,
drug abuse and alcoholism, juvenile delinquency and commitence of erimes, ete. In view of these, the Government of India has
undertaken certain polices to impart proper education to the adolescent groups so that their talents are better channelized and properly
utilised. The National Youth Policy is one example which has been designed to look into the overall development of our large youth and

adolescent population.

The National Youth Policy (NYP-2014) launched in February 2014 proposes a holistic *vision’ for the youth of India, which is “To
empower the Youth of the country to achieve their full potential, and through them enable India to find its rightful place in the community
of nations.” The NYP-2014 has defined “Youth® as persons in the age group of 15-29 years.

The percentage of female adolescents in adolescents according to Census 2011 was

1.20.9%
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3.47.3%
4. 31.16%
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Read the passage and answer following question :

An important aspect of population growth in India is the growth of its adolescents. At present the share of adolescents i.c. up to the age
group of 10-19 years is about 20.9 per cent (2011), among which male adolescents constitute 52.7 per cent and female adolescents
constitute 47.3 per cent. The adolescent population, though, regarded as the youthful population having high potentials, but at the same
time they are quite vulnerable if not guided and channelized properly. There are many challenges for the society as far as these adolescents
are concerned, some of which are lower age at marriage, illiteracy-particularly female illiteracy, school dropouts, low intake of nutrients,
high rate of maternal mortality of adolescent mothers, high rate of HIV and AIDS infections, physical and mental disability or retardeness,
drug abuse and alcoholism, juvenile delinquency and commitence of erimes, ete. In view of these, the Government of India has
undertaken certain polices to impart proper education to the adolescent groups so that their talents are better channelized and properly
utilised. The National Youth Policy is one example which has been designed to look into the overall development of our large youth and
adolescent population.

The National Youth Policy (NYP-2014) launched in February 2014 proposes a holistic *vision’ for the youth of India, which is “Te
empower the Youth of the country to achieve their full potential, and through them enable India to find its rightful place in the community
of nations.” The NYP-2014 has defined “Youth® as persons in the age group of 15-29 years.



The National Youth Policy was launched by Government of India for which one of the following objectives?
1. Economic development of youth
2. Overall development of youth
3. Social development of adolescent
4. For educational development of youth
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Read the passage and answer following question ;

An important aspect of population growth in India is the growth of its adolescents. At present the share of adolescents i.e. up to the age
group of 10-19 years is about 20.9 per cent (2011), among which male adolescents constitute 52.7 per cent and female adolescents
constitute 47.3 per cent. The adolescent population, though, regarded as the youthful population having high potentials, but at the same
time they are quite vulnerable if not guided and channelized properly. There are many challenges for the society as far as these adolescents
are concerned, some of which are lower age at marriage, illiteracy-particularly female illiteracy, school dropouts, low intake of nutrients,
high rate of maternal mortality of adolescent mothers, high rate of HIV and AIDS infections, physical and mental disability or retardeness,
drug abuse and alcoholism, juvenile delinquency and commitence of erimes, ete. In view of these, the Government of India has
undertaken certain polices to impart proper education to the adolescent groups so that their talents are better channelized and properly
utilised. The National Youth Policy is one example which has been designed to look into the overall development of our large youth and
adolescent population.

The National Youth Policy (NYP-2014) launched in February 2014 proposes a holistic *vision’ for the youth of India, which is “To
empower the Youth of the country to achieve their full potential, and through them enable India to find its rightful place in the community
of nations.” The NYP-2014 has defined “Youth® as persons in the age group of 15-29 years.

Which of the following age group is regarded as the population having high potentials?

1. Above 60 years

b

.10 to 19 years
3. Below 10 years
4. 15 to 29 years

Options :

485584109273. 1
485584109274. 2
485584109275. 3
485584109276. 4
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485584109273, 1
485584109274, 2

485584109275. 3
485584109276. 4
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Read the passage and answer following question ;

An important aspect of population growth in India is the growth of its adolescents. At present the share of adolescents i.e. up to the age
group of 10-19 years is about 20.9 per cent (2011), among which male adolescents constitute 52.7 per cent and female adolescents
constitute 47.3 per cent. The adolescent population, though, regarded as the youthful population having high potentials. but at the same
time they are quite vulnerable if not guided and channelized properly. There are many challenges for the society as far as these adolescents
are concerned, some of which are lower age at marriage, illiteracy-particularly female illiteracy, school dropouts, low intake of nutrients,
high rate of maternal mortality of adolescent mothers, high rate of HIV and AIDS infections, physical and mental disability or retardeness,
drug abuse and alcoholism, juvenile delinquency and commitence of erimes, ete. In view of these, the Government of India has
undertaken certain polices to impart proper education to the adolescent groups so that their talents are better channelized and properly
utilised. The National Youth Policy is one example which has been designed to look into the overall development of our large youth and
adolescent population.

The National Youth Policy (NYP-2014) launched in February 2014 proposes a holistic *vision’ for the youth of India, which is “To
empower the Youth of the country to achieve their full potential, and through them enable India to find its rightful place in the community
of nations.” The NYP-2014 has defined “Youth® as persons in the age group of 15-29 years.

According to the Census 2011 the percentage of the age group of 10 to 19 years population is

1.:52.
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%
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e |

%o

3.20.9%
4.10.8%

Options :

485584109277. 1
485584109278. 2
485584109279. 3
485584109280. 4

Question Number : 150 Question Id : 48558427320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp2




R S 3 31 0% o 0 5 BRI 1 i 1 aear # TH=IRT 3reife] 10-10 a8 & o1rg ot b1 371 20,9 AR &
(2011), Forer 52,7 Tford P eie ol 47,3 Wiia et afifod &) freiv oo, aaf 3= guareit 3 3T ST
Frg Sl §, A 37 TG 67 AriaRid S ferm FEfRrd 7 fova1 Se il @ BTt Y (Valnerable) ¥ €10 €1 551 9@ 37
foriRl 1 TaY § IO & YA SH@ ol &, fod © $w [are ®1 Fw omg, FRerar, faxia: &t fRern, faenaa foxaem,
O] S -9 dRral, =R Ardrsi 8 3= 019 9 SX.U9.315.41. / USH & SHH0l & 39 &, IR 3fR TR ST Sl
TEd, SN GHUTNT AR TR e FHRIR SUaR SR SORTY 31 SIS 2

5 Tl ) EfPTE G §U HR IRER A PR 7 @ Suga e ver o3 & o g e ifoal w5 € afes 593 o
SBaR APIETH SR IUged IUdNT foar ot e | AT gar i Yo U1 Sarev & o sHR] 4w, gar SR BRIk e &
wﬁwﬁé&%%@a{%ﬁ@aﬁww%

I8 a1 Aifd (NYP-2014) HRART 2014 H $IRH P11 & O HRd & garsil & Y U §HY gRaxil Wara 3l 6 174% & garsil ol
ST G &l ST FUANT SR & [T T&H §MT SR 3% GRI HRd DI AP & GEE H U1 Siod R UIE S H Gai g4
o 1" P AT HIfd 2014, 15-20 9N & SR TG P oAkl Bl AT & wU H URHINT Pecl o

2011 B SHIUET & IR 10 9 10 T B 31 45 & SIS gl
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2:31.7%
3. 20.9%
4. 10.8%
Options :
485584109277. 1
485584109278. 2

485584109279. 3
485584109280. 4
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Tn a school, ratio of number of boys to that of girls was 6:5. In the next year, number of bovs increased by 20% and number of eirls
increased by 10% resulting in an increase of 119 students in the school. How many students were there in the school initially?

1. 680
2. 750
3.770
4,780

Options :

485584105801. 1
485584105802. 2
485584105803. 3
485584105804. 4
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1. 680

2.750

. 770

LS

4. 780

Options :

485584105801. 1
485584105802. 2
485584105803. 3
485584105804. 4
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If Anil's salary is 20% less than that of Rama, then by what percent is Rama's salary more than that of Anil?
1.20%

2. 25%

4. 30%

Options :




485584105805. 1
485584105806. 2
485584105807. 3
485584105808. 4
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Options :

485584105805.
485584105806.
485584105807.
485584105808.
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5
A shopkeeper sold _{1 of his stock of rice at a profit of 5% and the remaining stock at a loss of 2%. If his total profit was ¥1000, then the

cost price of the whole stock of rice is:

1. 324,800

[

. 32,600
3.%37.500
4. 48,000

Options :

485584105809. 1
485584105810. 2
485584105811.3
485584105812. 4
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1. 324,800
2.%32,600
3. %37,500
4,348,000

Options :

485584105809. 1
485584105810. 2
485584105811. 3
485584105812. 4

Question Number : 154 Question Id : 48558426454 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The value of a car depreciates every vear by 10%. What will be its value after 3 years if its present value is $6.25.000?
1. %4,50,000
2. %4.52.250
3. %4,55.625
4. %4,62.500

Options :

485584105813. 1
485584105814.2
485584105815. 3
485584105816. 4
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el FR &1 Ul a9 10% A 81 Sld § | 4% 39S adqH Jod 26.25,000 § o1 3 a9 & &lg $9®1 Jed &1 eI

1. %4.50.000

ra

.%4,52,250
3.%4,55.625
4. %4,62.500

Options :

485584105813. 1
485584105814 2
485584105815. 3
485584105816. 4
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In how many vears a sum placed on compound interest becomes 8 times of itself, if it becomes twice in 6 years?

1.20

b

.18
3.15
4.12

Options :

485584105817. 1
485584105818. 2
485584105819. 3
485584105820. 4
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485584105817. 1
485584105818. 2
485584105819. 3
485584105820. 4
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The ratio between length and breadth of a rectangle is 3:2. If area of the rectangle is 96 em?, then length of the rectangle is
l.6em
2. 12¢em
3.8cm
4. 16em
Options :

485584105821. 1
485584105822. 2



485584105823. 3
485584105824. 4
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4. 16 cm

Options :

485584105821. 1
485584105822.2
485584105823. 3
485584105824. 4
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If two squares X and Y have each side of 10 m and 20 m respectively. then the side of the square Z whose area iz equal to the sum of the
areas of square X and square Y is:

1 ](}\Em

3]

1082 m
3 ](Nr?m
4. ]0»‘?11’!

Options :

485584105825. 1
485584105826.2
485584105827. 3
485584105828. 4
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Options :

485584105825. 1
485584105826. 2
485584105827. 3
485584105828. 4
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IfA (2.3). B(2,4) C(4.9) and D (x.8) are the vertices of a parallelogram ABCD, then find the value of x.

1.8

b

.18

4.4

Options :

485584105829. 1
485584105830. 2
485584105831. 3
485584105832. 4
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Options :

485584105829. 1
485584105830. 2
485584105831. 3
485584105832. 4
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Mean, Median and Mode of a data are related by the relation
1. 3 Mode — 2 Median = Mean
2. 3 Mean — 2 Mode = Median

. 3 Median — 2 Mode = Mean

L]

4. 3 Median — 2 Mean = Mode

Options :

485584105833. 1
485584105834. 2
485584105835. 3
485584105836. 4
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Options :

485584105833. 1
485584105834. 2
485584105835. 3
485584105836. 4
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Three dice are thrown. The probability of getting a sum of numbers which is a perfect cube. is:

[E9]

I
6
1
8
5
36
7
72

Options :

485584105837. 1
485584105838. 2
485584105839. 3
485584105840. 4
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Options :

485584105837. 1
485584105838.2
485584105839. 3
485584105840. 4
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1f the average of 15, 25, 19, 20, 23, 18 and (x — 3) is 20, then Find the average of x. (x + 6), (2x — 1) and 23.

1.20

4. 30

Options :

485584105841. 1
485584105842. 2
485584105843. 3
485584105844. 4
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4. 30

Options :

485584105841. 1
485584105842. 2
485584105843.3
485584105844. 4
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The average of a positive number, its square and 3 is 5. Find the number.

1.2

b
L)

4.4

Options :

485584105845 1
485584105846. 2
485584105847. 3
485584105848. 4
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Options :

485584105845. 1
485584105846. 2
485584105847. 3
485584105848. 4
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If cos 66 = sin 36, then the value of 8 is;

1.8

(=
iy
3]

0

Options :

485584105849. 1
485584105850. 2
485584105851. 3
485584105852. 4
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Options :

485584105849. 1
485584105850. 2
485584105851. 3
485584105852. 4
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A solid hemisphere of radius 24 cm is melted and identical cones each of base radius 8 cm and height 6 cm are formed. How many such
cones are formed?

1.144

[ ]

.96

4.24

Options :

485584105853. 1
485584105854. 2
485584105855 3
485584105856. 4
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1. 144
2.96

72

LS

4. 24

Options :

485584105853. 1
485584105854 2
485584105855. 3
485584105856. 4
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A and B can do a work in 10 days and 15 days respectively. They worked together for 5 days, then B left the work and A alone did the
remaining work. The whole work got completed in:

1 62 days
3
2.7 days

3. 7lday3
2]

4.6 L days
2

Options :

485584105857. 1
485584105858.2
485584105859. 3
485584105860. 4
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AT B fd B B TR 109U 15 T F W aR Iod ©1 3% 5 o e ol fovan oik fer B 3 ord ofs fBan orR
3P A5 ! 9 U DK B G¥1 | d 1 B fbad 11 5 e gei

1.&%@7{

2.7
39l e

2
4.6%%?

Options :

485584105857. 1
485584105858. 2
485584105859. 3
485584105860. 4

Question Number : 166 Question Id : 48558426466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A 180 m long train crosses a man standing on the platform in 6 seconds. What is the speed of the train?
1. 90 km/h

2.108 km'h

LF5]

120 km'h
4. 88 kim'h

Options :
485584105861. 1



485584105862. 2
485584105863. 3
485584105864. 4

Question Number : 166 Question Id : 48558426466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

180 HY. G U Y@TTS], WewhiH IR Ws fhdt oufdd &1 3R 6 Ods & uR &3dl ¢ 1 a1 sl &t nfd @ gl
1. 90 fepeit. et

. 108 fereit et

120 fepeit et

4. 88 fopdil der

Options :

485584105861. 1
485584105862. 2
485584105863. 3
485584105864. 4

)
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Question Number : 167 Question Id : 48558426467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Sourav completes a journey in SEI hours. If he covers half of the distance at 5 km/h and the remaining distance at 6 km'h. then find the

total distance covered by him.
1. 30 km
2.35km
3.33km

4. 39 km

Options :

485584105865. 1
485584105866. 2
485584105867. 3
485584105868. 4

Question Number : 167 Question Id : 48558426467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1. 30 ool
2. 35 ol
3. 33 Tl
4. 39 T,
Options :
485584105865. 1
485584105866. 2

485584105867. 3
485584105868. 4

Question Number : 168 Question Id : 48558426468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

Simplify the following

(3+7)x2-4 L 3+T%2-5
(3+7)x(2-4) 3+7x(2-5)

1.2

]
u.i (=

Options :

485584105869. 1
485584105870. 2
485584105871. 3
485584105872. 4

Question Number : 168 Question Id : 48558426468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




WA Te

(3+?}><2—4 N 3+Tx2-5
(3+7)x[2—4} 3+7x(2-5)

1.2

[
|
|

Options :

485584105869.
485584105870.
485584105871.
485584105872.

W N =

Question Number : 169 Question Id : 48558426469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following statements are true for rectangles?

A. All interior angles are right angles.

B. Diagonals are perpendicular to each other.
C. Diagonals are equal.

D. Opposite angles are supplementary

Choose the correct answer from the options given below:
1. Aand B only
2. Aand Conly
3.A Band Conly

4. A CandD only

Options :

485584105873. 1
485584105874 2
485584105875. 3
485584105876. 4

Question Number : 169 Question Id : 48558426469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584105873. 1
485584105874. 2
485584105875. 3
485584105876. 4

Question Number : 170 Question Id : 48558426470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which term of the AP. 3, 7, 11, ...... 147 is its middle term?
LA

1ot

(=

3. 20t
4.21%

Options :

485584105877. 1
485584105878. 2
485584105879. 3
485584105880. 4

Question Number : 170 Question Id : 48558426470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

TR 4813, 7, 11, ..., 147 BT HH IS B T 22

1.18dl

[ 2]

i X1
3.204dl

42140



Options :

485584105877. 1
485584105878. 2
485584105879. 3
485584105880. 4

Question Number : 171 Question Id : 48558426471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which iz the only metal that is Liquid at room Temperature?
1. Bromine
2. Mercury
3. Tungsten

4, Gallium

Options :

485584105881. 1
485584105882. 2
485584105883. 3
485584105884. 4

Question Number : 171 Question Id : 48558426471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Uit 1 Tt THHT U1 & S W dIIEH IR R ST § g 82
1. S

ORI

[

i3
4. 7Ty

Options :

485584105881. 1
485584105882.2
485584105883. 3
485584105884. 4

Question Number : 172 Question Id : 48558426472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Who is the winner of UNESCO peace Prize 20227

1. Volodymyr Zelenskyy

(2=

. Tadashi Hattori
3. Swati Piramal
4. Angela Merkel

Options :

485584105885. 1
485584105886. 2
485584105887. 3
485584105888. 4

Question Number : 172 Question Id : 48558426472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

D! M1 GREPR 2022 1 faoidr & &2
1. ATEHR Sieep!
BRI R
3. Tl URHe
4. TSie Havd
Options :
485584105885. 1
485584105886. 2

485584105887. 3
485584105888. 4

[ 2]

Question Number : 173 Question Id : 48558426473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Match List I with List IT

LISTI LISTII

Name of Prime Ministers Tenure
A [Shri. Inder Kumar Gujral I |1964-1966
B. Morarji Desai 11 |1998-2004
C. |Atal Bihan Vajpayee II1.|1977-1979
D. |Lal Bahadur Shastri IV, [1997-1998

Choose the most appropriate answer from the options given below:
1. A-IIL, B-II. C-I, D-IV
2. A-IL, B-I, C-1II D-IV
3. AL B-IIL C-IV, D-IIT

4. A-IV, B-III, C-11, D-I



Options :

485584105889. 1
485584105890. 2
485584105891. 3
485584105892. 4

Question Number : 173 Question Id : 48558426473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

=i 1 %1 gl 11 ¥ o S

N T
S SRPHR ToRId | L [1964-1966
ARGl cdTg 11 [1998-2004

31od 8N arergd)| L. [1977-1979
o1t S8Tee Tl | I [1997-1998

Frafoiad fowedl & 9 98! 3Tk &1 994 S

1. A-IIL B-IL. C-L. D-IV

ol ol =] b

2. A-IL B-1, C-IIL D-IV

.A-TL B-IIL C-IV, D-III

LS

4. A-IV, B-III, C-II, D-I

Options :

485584105889. 1
485584105890. 2
485584105891. 3
485584105892. 4

Question Number : 174 Question Id : 48558426474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List T with List II

LISTI LISTII
Device Purpose
A Microphone 1. |Used in vehicles to measure distance
N LT — o qu measurmg the force and velocity of
jwind

Converts sound waves to electrical

C. |Odometer I | . ;
vibrations

D. Anemometer | IV Measures intensity of sound

Choose the most appropriate answer from the options given below:
1. A-IV, B-TIL, C-II, D-I
2. A-IIL, B-IV, C-I, D-II
3. A-L, B-ITL, C-TT, DIV
4. A-IL, B-IIL, C-IV, D-I

Options :



485584105893. 1
485584105894. 2
485584105895. 3
485584105896. 4

Question Number : 174 Question Id : 48558426474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

=i 1 %1 g4l 11 9 e Sifeg

T I T I
—— T8+ | g1 A0 o fe7q SUaRT H ol

A BEIGIE

B. promard | 11, [arg ob o el 471 o A0 o g
I gﬁma?ﬁaﬁa@amﬁqﬁaﬁﬁw
D. [qerdmamdt | 1v [l & digdr & 99 & e

Faferad f[deedl O 3 98l 3TR P 997 HIo ;

1. A-IV, B-III, C-II, D-I

k3

. AL B-IV, C-1, D-II

LF¥]

. A1, B-IIL, CAI1, DIV
4. A-II, B-IIL, C-IV, D-1

Options :

485584105893. 1
485584105894 2
485584105895. 3
485584105896. 4

Question Number : 175 Question Id : 48558426475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Consider the following statements:
A, Antigen A and antibody 'a’, Antigen 'B' and antibody 'b’ cannot live together.
B. Blood group 'O’ is called universal Donor.
C. Blood group 'AB' is called Universal Receptor.
D. At the time of Blood transfusion RH-factor is also tested.
E. Main function of blood platelets is to protect the body from the disease.
Choose the most appropriate answer from the options given below:
1.B,C.D and E only
2.A,B, Cand D only
3. Aand B only
4. C,D and E only

Options :
485584105897. 1



485584105898. 2
485584105899. 3
485584105900. 4

Question Number : 175 Question Id : 48558426475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprchension MCQ
Pyt oI ug
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Options :

485584105897. 1
485584105898.2
485584105899. 3
485584105900. 4

Question Number : 176 Question Id : 48558426476 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Simon commission came to India in 2

(2=
—
=)
[ Se]

-1

4. 1930

Options :

485584105901.
485584105902.
485584105903.
485584105904.

B WD~

Question Number : 176 Question Id : 48558426476 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




AT HHIYE YR H $F AT

1. 1925

| B

: 1927
3.1923
4.1930

Options :

485584105901. 1
485584105902. 2
485584105903. 3
485584105904. 4

Question Number : 177 Question Id : 48558426477 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Who was the first Indian Nobel Laureate?

1. Dr. C.V Raman

(2=

. Dr. 8. Radha Krishnan
3. Rabindranath Tagore
4. 8 N. Bose

Options :

485584105905. 1
485584105906. 2
485584105907. 3
485584105908. 4

Question Number : 177 Question Id : 48558426477 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Alae REHR U S arall Wl YR S 41?7
1 gt T

.1 TH. AYIPUH
ATy SR

[ 2]

LN

s

Options :

485584105905. 1
485584105906. 2
485584105907. 3
485584105908. 4

Question Number : 178 Question Id : 48558426478 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who fought the battle of Tarain and won twice against Mohammad Ghori?

1. Maharana Pratap

)

. Jai Chand
3. Rana Sangram Singh
4. Prithviraj Chauhan

Options :

485584105909. 1
485584105910. 2
485584105911. 3
485584105912. 4

Question Number : 178 Question Id : 48558426478 Question Type : MCQ Option Shuftling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

WIS P11 g fbur ae1 auT Ieue 1N & favs o oR fasm ara oh

1. HeRIUIT ¥d9

2]

. STEg
QRIS 6T
Options :

485584105909. 1
485584105910. 2

485584105911. 3
485584105912. 4

aa
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Question Number : 179 Question Id : 48558426479 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following Mughal rulers set up a new religion called Din-i-Ilahi?
1. Aurangzeb
2. Humayun
3. Akbar
4, Shah Jahan
Options :
485584105913. 1

485584105914. 2
485584105915. 3



485584105916. 4

Question Number : 179 Question Id : 48558426479 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

fFrafeiad & 9 foou gua Qe - SH-U-garg! FHd 9U o4 B RIhA1 31
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e
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3. APdR
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a

4. TMgIgl

Options :

485584105913 1
485584105914. 2
485584105915. 3
485584105916. 4

Question Number : 180 Question Id : 48558426480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

C.V. Raman got Nobel Prize in 1930 for his discovery of:
1. Research into the nature of chemical bonding
2. Raman Effect
3. Studies of the Photoelectric Effect
4. Discovery of the Phenomenon of Radioactivity

Options :

485584105917. 1
485584105918. 2
485584105919. 3
485584105920. 4

Question Number : 180 Question Id : 48558426480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584105917. 1
485584105918. 2
485584105919. 3
485584105920. 4

Question Number : 181 Question Id : 48558426481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The book titled "Exam Warriors" is written by:
1. LK. Advani
2. P. Chindambaram
3, Jairam Ramesh

4, Narendra Modi

Options :

485584105921. 1
485584105922. 2
485584105923. 3
485584105924. 4

Question Number : 181 Question Id : 48558426481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

"TIATH TN TS [P & A B 87
1. T, &. Sfrsari

. ey

3, STERTH T

4. T HIE

Options :

485584105921. 1
485584105922.2
485584105923. 3
485584105924. 4

[



Question Number : 182 Question Id : 48558426482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Tustice DY Chandrachud has become the new Chief Justice of India?

Options :

485584105925. 1
485584105926. 2
485584105927. 3
485584105928. 4

Question Number : 182 Question Id : 48558426482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A S1.ars. 95ds, YRd & T g I e MU B
1.55d
507

[ S

3.4549
4.524d

Options :

485584105925. 1
485584105926. 2
485584105927. 3
485584105928. 4

Question Number : 183 Question Id : 48558426483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
The lies above the mesosphere?

1. Troposphere

[

. Thermosphere
3. Exosphere
4. Stratosphere

Options :



485584105929. 1
485584105930. 2
485584105931. 3
485584105932. 4

Question Number : 183 Question Id : 48558426483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

O Hed ¥ SR QT gl
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Options :

485584105929. 1
485584105930. 2
485584105931. 3
485584105932. 4

Question Number : 184 Question Id : 48558426484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Lalit Kala Akademi, the National Academy of Art. was set up in

1. 1968

k3

. 1964

LF5]

. 1954

4. 1951

Options :

485584105933. 1
485584105934. 2
485584105935. 3
485584105936. 4

Question Number : 184 Question Id : 48558426484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




qferd el SPTedl, 5 AP e TR ©. B W 59 532
1. 1968
2.1964

. 1954

LS

4. 1951

Options :

485584105933. 1
485584105934. 2
485584105935. 3
485584105936. 4

Question Number : 185 Question Id : 48558426485 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

‘What is the prescribed strength of judges in the constitutional bench of supreme Court?

1. 2 Judges

b2

. At least 5 Judges

4. 4 judges

Options :

485584105937. 1
485584105938. 2
485584105939. 3
485584105940. 4

Question Number : 185 Question Id : 48558426485 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

gt ey & Saue s § e & fea gen FuiRa et e 2
1. 2 TR

. HH I HY 5 e

2]

3.3 I
4. 4 =TT

Options :

485584105937. 1
485584105938. 2
485584105939. 3
485584105940. 4

Question Number : 186 Question Id : 48558426486 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
White revolution refers to 2

1. Cotton textile Industry

b2

. Marble Industry
3. Cement Industry
4. Dairying

Options :

485584105941. 1
485584105942. 2
485584105943. 3
485584105944. 4

Question Number : 186 Question Id : 48558426486 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

5 il forer Halferd g2
1. UM a3 3N

. f <

3 0 f

4. TR T
Options :
485584105941. 1
485584105942. 2

485584105943. 3
485584105944. 4

=]

Question Number : 187 Question Id : 48558426487 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List I with List 1T

LISTI LISTI
Mineral States
A |Coal I. [Madhva Pradesh
B. |Gold II. |Gujarat
C. Diamond 111 [Chattisgarh
D. [Petrolzum IV. [Karnataka

Choose the most appropriate answer from the options given below:
1. A-IIL, B-I, C-II, D-IV
2. AL B-TV, C-11, D-1
3. AL B-IV, C-1, D-II
4. A-IV, B-TIL, C-1, D-TI

Options :

485584105945. 1
485584105946. 2
485584105947. 3
485584105948. 4

Question Number : 187 Question Id : 48558426487 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

i 1 D1 I 11 ¥ e Py
T 1 T 1T

N EEE] L (A R

i 1L [I5_1d
TR 111 [&dTe

Ueiferan IV [@dled
Feead faedl § ¥ Hgl ) 1 99 DIl :

1. A-IIL B-IL, C-II. D-IV

CIGIEIE

2. A-IIL, B-IV, C-II, D-I

(¥

. AL B-IV, C-I, D-II
4. A-IV, B-III, C-I, D-II

Options :

485584105945. 1
485584105946. 2
485584105947. 3
485584105948. 4

Question Number : 188 Question Id : 48558426488 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

MCQ

Comprehension




Largest salt water inland lake of India, which provides sanctuary to lakhs of Migratory Birds during winter?

1. Pachpadra Lake

b3

. Chilika Lake

LFS]

. Pangong Lake
4. Lomar Lake

Options :

485584105949. 1
485584105950. 2
485584105951. 3
485584105952. 4

Question Number : 188 Question Id : 48558426488 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

YRd D1 TG TS GR U] drell 98 STaRe s, ol Jfiderd § aral vari ulémi &1 naRog ueE Sl 8, iF H 82
EECIE

REREZEI]

4. @R it

]

55

Options :

485584105949. 1
485584105950. 2
485584105951. 3
485584105952. 4

Question Number : 189 Question Id : 48558426489 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
The first vice-President of India was 7

1. Dr. S. Radha Krishnan
2. Dr. Zakir Hussain

3, C. Rajagopalachari

4. Krishan Kant

Options :

485584105953. 1
485584105954. 2
485584105955. 3
485584105956. 4

Question Number : 189 Question Id : 48558426489 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

YRA & YYH FU-IFUR I 242
1. BI. UH. AYIHUH
I, TSTTeE Rt

(3]

T2

4. PUEHd

Options :

485584105953. 1
485584105954.2
485584105955. 3
485584105956. 4

Question Number : 190 Question Id : 48558426490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
'Shramev Jayate' scheme was announced on by GOL

1. 10 October, 2013

(2=

. 16 October, 2014
3. 12 October, 2012
4. 13 October, 2015

Options :

485584105957. 1
485584105958. 2
485584105959. 3
485584105960. 4

Question Number : 190 Question Id : 48558426490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

YR ISR §RT YT ST IS B 9ivon H g o1 75 4o

1. 10 IR, 2013

9]

.16 3facdy, 2014
3,12 3{dcey, 2012
4. 13 3f9cay, 2015
Options :

485584105957. 1
485584105958. 2



485584105959. 3
485584105960. 4

Question Number : 191 Question Id : 48558426491 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Forest cutting is desirable from the point of view of soil erosion.
Reason R : Cutting of forests reduces the interception of rain water.
In the light of the above statements, choose the correcr answer from the options given below.
1. Both A and R are true and r is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false
4. A is false but R is true
Options :
485584105961. 1
485584105962. 2

485584105963. 3
485584105964. 4

Question Number : 191 Question Id : 48558426491 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A A FUARU T E : TP HUBUT (Assertion A) F T 1 [I1Ed T Il TR 3HF BRI (Reason R) & AT
SHHBYA A : HaT UG & TRBIV Y il & Ble &I HaGHdl 6|
BRI R : T &1 DIeA 4 a9 & ofel P STRIGRIT HH g o1l o
IR BUF o7 3ATAIF 1, A1 12U [ddheq] § U ol 3= &1 909 I -
1. AR REM I & JR R, AP H6l TR ©
2. ASRREAIIUE 3R R, A DI TE! ourRed T8l g

3. ATTE. Ol R 3T ®

4. A SIS, APIRIAR

Options :

485584105961. 1
485584105962. 2
485584105963. 3
485584105964. 4

Question Number : 192 Question Id : 48558426492 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

Find the odd one out from the given series
3, 12,27, 48, 76, 108

1.27

b2

.48
3.76
4. 108

Options :

485584105965. 1
485584105966. 2
485584105967. 3
485584105968. 4

Question Number : 192 Question Id : 48558426492 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A7 sjrer # o ged e 2 S0 g B
3.12, 27,48, 76, 108
1.27
2.48
3.76
4. 108
Options :
485584105965. 1
485584105966. 2

485584105967. 3
485584105968. 4

Question Number : 193 Question Id : 48558426493 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Choose that set of numbers from the four alternative setg, that is similar to the given set.

Given set: (265, 392, 285)

—

. (373, 472, 366)

&

(343, 482, 360)

L)

(363, 482, 361)
4, (373, 482, 366)

Options :



485584105969. 1
485584105970. 2
485584105971. 3
485584105972. 4

Question Number : 193 Question Id : 48558426493 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

T3 & fooferd Ig=i 8 9 A foU T 9=0 & 90=1 &1 999 D1
e T =y - (265, 392, 285)

1. (373, 472, 366)

b

. (343, 482, 360)

aa

(363, 482, 361)
4. (373,482, 366)

Options :

485584105969. 1
485584105970. 2
485584105971. 3
485584105972. 4

Question Number : 194 Question Id : 48558426494 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

If some word are coded from artificial language, like
"Botlo Pono" means Drink water
"March pono" means chew water
"Pono ajebo” means save water
Which code could mean "Save Drink"?
1. Botlo ajebo
2. Botlo pono
3. Pono ajebo
4. Maroh Botle
Options :
485584105973. 1
485584105974. 2

485584105975. 3
485584105976. 4

Question Number : 194 Question Id : 48558426494 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




[Comprehension [MCQ

fepdil PiAT UINT U O Yea] DI 586 TbR forar 737
"Botlo Pono" 3U[d Drink water
"Maroh pono" H Ufd chew water
"Pono ajebo” H T save water
g P I H ¥ "Save Drink" E?ETH
1. Botlo ajebo

2. Botlo pono

L¥F)

. Pono ajebo

4. Maroh Botlo

Options :

485584105973. 1
485584105974.2
485584105975. 3
485584105976. 4

Question Number : 195 Question Id : 48558426495 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

If today is saturday, then day after 53 days will be:

1. Friday

b

. Monday

LoF)

. Tuesday
4. Wednesday

Options :

485584105977. 1
485584105978. 2
485584105979. 3
485584105980. 4

Question Number : 195 Question Id : 48558426495 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




gfe 3 IfaR B, f 53 7 & a7 Iwe o1 oH 91 e sm

1. {EhAR
AR

bJ

%
4. AR

Options :

485584105977. 1
485584105978. 2
485584105979. 3
485584105980. 4

Question Number : 196 Question Id : 48558426496 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Akshay is the son of Kapil. Simar, Kapil's sister, has a son Montu and daughter Sara. Pawan is the maternal uncle of Montu. How is
Akshay related to Mentu?

1. Sister-in-law
2. Mother

3. Sister

4. Cousin

Options :

485584105981. 1
485584105982. 2
485584105983. 3
485584105984. 4

Question Number : 196 Question Id : 48558426496 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Hery, HIUe BT e g, PIUA B 967 TR &1 Y7 Hig aul T URI S| U6, TI=g &1 01 51 316 B 1= & 91y o 9ae 87
1. 7%

e

2.H1

LS5

|
4. TRIUE

Options :

485584105981. 1
485584105982.2
485584105983. 3
485584105984. 4



Question Number : 197 Question Id : 48558426497 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

How many tites in a day hour hand and minute hand of a clock will coincide?
1. 24 times
2. 22 times

. 44 times

LF 5]

4. 48 times

Options :

485584105985. 1
485584105986. 2
485584105987. 3
485584105988. 4

Question Number : 197 Question Id : 48558426497 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

U 37 1 fpa-t aR gst o1 62 31 s qul fiFe 3t 98 te g3 W srsifed gl 82

12449

[ 2]

J228R
344491
4,489

Options :

485584105985. 1
485584105986. 2
485584105987. 3
485584105988. 4

Question Number : 198 Question Id : 48558426498 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Find the alternative which containg figure (A) as its part.

(A)

E

[]
<

Options :

485584105989. 1
485584105990. 2
485584105991. 3
485584105992. 4

Question Number : 198 Question Id : 48558426498 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




fowedl 7 @ 59 fog &1 7 ome i (A) T v 21

(A)

:

[]
AN

Options :

485584105989. 1
485584105990. 2
485584105991. 3
485584105992. 4

Question Number : 199 Question Id : 48558426499 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Find out which of the answer figures (A), (B). (C) and (D) completes the figure matrix

5
X

o~J

A

X

(A) (B) (&) (D)

3.C
4.D

Options :

485584105993. 1
485584105994. 2
485584105995. 3
485584105996. 4

Question Number : 199 Question Id : 48558426499 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

famed & fau feml (1), (2), (3) quT () & 9 14 1 ot faw 77w Foamy o &1 g vl 22

X
AA ?

X

(A) (B) ©) (D)



Options :

485584105993. 1
485584105994. 2
485584105995. 3
485584105996. 4

Question Number : 200 Question Id : 48558426500 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the alternative which most closely resembles the mirror image of the given combination.

SACRIFICE4
L4HCIHAACS
AADIATADAZ
BFHDIATACAZ
4SADAIHICEA4

[55]

w2

Options :

485584105997. 1
485584105998. 2
485584105999. 3
485584106000. 4

Question Number : 200 Question Id : 48558426500 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
2 fau e daeH § waffte ga @ gu g o &1 909 i)
SACRIFICE4

L4dJCITAACS

2RHADIHAIADAZ
pHDIAIACAR
ASADIAITHTICE4

Options :

485584105997. 1
485584105998. 2
485584105999. 3
485584106000. 4

Question Number : 201 Question Id : 48558426501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ




Find the missing term which can be filled at "?" place
1.3, %, 22; 67, 2 1077
1.269

2.263

4. 267

Options :

485584106001. 1
485584106002. 2
485584106003. 3
485584106004. 4

Question Number : 201 Question Id : 48558426501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprchension MCQ

Y TS 98 & W TR 3 ad I37d U &) 71d B

1.269

2]

. 263
3.362
4. 267

Options :

485584106001. 1
485584106002. 2
485584106003. 3
485584106004. 4

Question Number : 202 Question Id : 48558426502 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Find out which option figure resembles the pattern formed when sheet is folded along the dotted line?

j.c
4.D

Options :

485584106005.
485584106006.
485584106007.
485584106008.

B W N~

Question Number : 202 Question Id : 48558426502 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

e 1 fegfrd Y@ 9 0Ig 1§74 aTe Ue 9 O @rd gU 93 &1 1 a3

3.c
4.D

Options :

485584106005. 1
485584106006. 2
485584106007. 3
485584106008. 4



Question Number : 203 Question Id : 48558426503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Study the following information and answer the question given below:
A family has 5 members P, Q, R, S and T, each have a different weight.

1. P weighs twice as much as Q

11. Q weighs four and a half times ag much as R
iii. R weighs half as much as §
iv. § weighs half as much as T

v. T weighs less than P but more than R

Which of the following member of a family is the lightest in weight?

1.

e}

2.Q
R

4.8

Options :

485584106009. 1
485584106010. 2
485584106011. 3
485584106012. 4

Question Number : 203 Question Id : 48558426503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

19 &1 718 TSR B 9g U1 U T WYl & I
U5 URGR T 5s 5P, Q. R, S AUTT &1 AP T YR g |

L PHIUYR QU I B
ii. Q BT UR R ¥ HI¢ IR 0 34U 3|
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. SHIHR T Y M|
v TH YR PI T PR T T 21

49 feu v oRoR & 37 Yo § O f[$aeT YR el ®H g0

1.

o

[ 2]

-Q
R
4.8

Options :

485584106009. 1
485584106010. 2
485584106011. 3
485584106012. 4



Question Number : 204 Question Id : 48558426504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Rinki ranked 10% from the top and 28" from the bottom in a class. How many students are there in the class?
127

2:37

4. 39

Options :

485584106013. 1
485584106014 2
485584106015. 3
485584106016. 4

Question Number : 204 Question Id : 48558426504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

G R R KA R R R B TR NS i R s R e e Ao A T E R e
127

2. 37

(¥
Taa
(o]

4. 39

Options :

485584106013. 1
485584106014. 2
485584106015. 3
485584106016. 4

Question Number : 205 Question Id : 48558426505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Six persons A, B, C, D, E. and F are sitting in two rows with three persons in each row. People of both the rows are facing each other. E i3
not at the end of any row. D is second to the left of F. C is the neighbour of E and diagonally opposite to D. B is the neighbour of F. Who
is in front of F?

1.A

[
lne]



Options :

485584106017. 1
485584106018. 2
485584106019. 3
485584106020. 4

Question Number : 205 Question Id : 48558426505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

©: Tl A, B. C, D, E, GUI F 31 Ufddl ¥ 58 UoR &8 € 1 alHl Ufdd H fo fo= aafda € Sik 2 dfd & auifedd T g o1 iR®
&@ e ¢ E fardl ol dfda & ofa 9 981 9611 F & 91 R g9k ®IM W D §61 g1 C.E $1USII § aUID & fauia: ¥ 94 38131
B.FHIUSH! 81 FHF IHABHEE?

LA
Z2.B

5

a2

4.D

Options :

485584106017. 1
485584106018. 2
485584106019. 3
485584106020. 4

Question Number : 206 Question Id : 48558426506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Among four answer figures which one can be formed from the cut out pieces given below:

)/

(a) (b) (] (d)

b
o

4.d

Options :
485584106021. 1
485584106022. 2



485584106023. 3
485584106024. 4

Question Number : 206 Question Id : 48558426506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

=2 feu U g st g, fawedl & faar o o W fom 99 wea 2

)/

(2) (b) (<) (4

!\_J
o

4.d

Options :

485584106021. 1
485584106022. 2
485584106023. 3
485584106024. 4

Question Number : 207 Question Id : 48558426507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Choose the assumption which is implicit in context of the given statement.
Statement-" Z- perfume is ideal as a gift for someone you love" - An Advertizsement
Assumptions
I. People generally give gifts to loved one.
II. Such advertisements generally influence people.
III. Perfume can be considered as a gift item.
Choose the most appropriate answer from the options given below:

1.1 and II are implicit

2.1 and III are implicit

L)

. All are implicit
4. 11 and III are implicit

Options :

485584106025. 1
485584106026. 2
485584106027. 3
485584106028. 4

Question Number : 207 Question Id : 48558426507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584106025. 1
485584106026. 2
485584106027. 3
485584106028. 4
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Question Number : 208 Question Id : 48558426508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key |Value




[Comprehension [MCQ

Which of the given conclusions logically follows the given two statements.
Statements
All apples are Banana
No Banana is Grape
Some Grape are Orange
Conclusions
I. Some Banana are Orange
II. No Apple is Orange
I1I. All Banana are Orange is a possibility
1. Only I follow

2. Only II conelusion follow

LFS]

. Only III follow
4. All conclusion follow

Options :

485584106029. 1
485584106030. 2
485584106031. 3
485584106032. 4

Question Number : 208 Question Id : 48558426508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584106029. 1
485584106030. 2
485584106031. 3
485584106032. 4

Question Number : 209 Question Id : 48558426509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In a certain code, 'lee ra de' means 'Upanishads are it', 'mo nil' means "you read'. 'nil pom ra’ means 'you like it' and 'tok lee fo' means 'They
are immortal' How will you write ‘Upanishads you like’ in that code?

1. de nil pom
2.denilra

3. mo nil pom
4. nil tok lee

Options :

485584106033. 1
485584106034. 2
485584106035. 3
485584106036. 4

Question Number : 209 Question Id : 48558426509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In Ud Fﬁ 'lee ra de' T 3 % "Upanizhads are it, 'mo nil' T S{QT% 'you read'. 'nil pom ra’ dT 3{??% 'you like it' dYT 'tok lee fo' Pl S{‘QT%
'They are immortal'| al "Upanishads you like' 4 forar s

1. de nil pom
2. denilra
3. mo nil pom

4. ml tok lee

Options :

485584106033. 1
485584106034. 2
485584106035. 3
485584106036. 4

Question Number : 210 Question Id : 48558426510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ




At what time between 4 o' clock and 5 o' clock hour hand and minute hand will coincide?

[ 2]
i
ta
I

Options :

485584106037. 1
485584106038. 2
485584106039. 3
485584106040. 4

Question Number : 210 Question Id : 48558426510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584106037. 1
485584106038. 2
485584106039. 3
485584106040. 4



